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NOVEMBER, 2007
GoAT aeh-ieh
ASSOCIATESHIP EXAMINATION
INFORMATION TECHNOLOGY
g 3EHe) . [&heT 24eh : 100
Time: 3 Hours] [Total Marks : 100
for o1 Wet 3 Fewre SR 1 o e 3 16 3ieh & oy g arfremed i £
g asf v w wes 12 sfw w &)

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
cofmpulsory. Adl other questions carry 12 marks each::

, "Marks
1. = e & . (FAF H | 3iF)
~ Match the following: : ' I each
I.  MICR , : A) CDROM . '
2. CRT : B) Desk Top Publishing
3. DTP : C) 18000 Vaccum tubes -
4. Time sharing - : D) Inputdevice
5. Joy Stick : E) Whenmany use the same computer
6. Byte  F) Physical equipment of corputer System
7. Peripheral .. ‘G) Usedin éngineering & Scientific aspects
8. COBAL - H) UNIX :
9. RDBMS : 1) Fordrawing graphs, maps, charts
10. Fortran 1. J)" Input, output and backup device
11. Internet : K) File and data transfer
12. Optical disk .. L) Cathode ray tube
13. Plotter : M) ink coated with iron-oxide
14. ENIAC. : N) Business oriented language
5. Multitasking : Q) A group of 8 bits.
16. Hardware - - : P) - Relational data base Management System
2. W SR R frfa - (¥ 3 3 i)
i) FUR ' ~
i) fEfsea svgex
i) W o aierer
v WRY
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| | e LC-12
7. o) foe WRRafEl $ st ol & geaia @ @ ? : 3

q) S F A o dow F SN A T4 FHS T g € ? 3
¥) o uReT F AR a9 THEE 4§ 7 6
7. a) Under which circumstances, the Transmission of Shares takes place ? 3
*b) Which business is normally transacted during AGM of the Company? 3
¢) -What are the advantages and disadvantages of Water Transport 7 6
8. 37 fea uRRafrEl § o wamm SR fear s & 2 S % 6 3
) AR St i P gr T & R Are Y T S € ?
8 a) Under which circumstances 'Bank Reconciliation is prepared ? 6each
b) What are the different channels of distribution practised by LIC of
India ? )
9. frfafes &t we i : I & 3 37
' ) e faEr yomed ' .
§) WHY FIAR
T) ffw o sgaw
7) wves IIRREY
9. Explaih the following : ’ _ 3 each

a) One Window System
b) Government Company
¢) Mixed Economy

d) Bonded Warehouse

10. 3T QI o Webea T 1 T 7Y SR F gL URA & A g 12
# gu% e @ smen HNY |

10. Explain fully the concept of Economic Reforms andits advantagesto India =~ 12
in the present scenario.




9)
b)

%)
)

)

a)

a)
b)

)

AC-21 .

Write short notes on :- ‘ .-3each
a) Ethernet . ’ ‘ '
b) . Digital Computer
¢) Sample Audit
‘ d) Plotters.
) fre w9 ¥ e By, g B A fm Y 2
) IW g Bred % o afw frooh i 10 -
a) - In what respect the Impact Printers differ from the Non Impact Printers ? 2
b)  Also briefly narrate about the above types of Printers . 10
37) Prifea ® ot w # ff A  Am @ Y )
a) Expand the following : 4 15 each

i) CPU il) LASER iii) ALU iv). RDBMS
v) OOP vi) BASIC' vii) WAN - viii)ENIAC

Prifa gfvag SuiE! &1 AN faRaT (3 V2 37%)

Mention the purpose for which the following Unix commands are used . Y2 each

1) }mail i) “Ip iii) .umount iv)  fsck

|t qo S - S e g 0 L 6

Make a brief comparison( -DOS versus UNIX .. 6
' (FAF B 6 3F)

fren giRasi (Syetem Software) T TRAHIA AHRAF -
(Application Software) & H&Y Ta1gd |
IT'?ﬁ IS HOTE (Multi User System) ¥ drrae & an & R

Differentiate between 'System Software' and 'Application Software’. 6 each
Specify the capabilities of Multi User System . '

By AR @ arad g & Siftw aur vk Al wv A e 3
Il e F gudes gem A e | - 3.
10011
1100
10111
1010
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Q) i) a0 TS 101100 I TEAE TS 1001011 A TR (TE F 3
FIAHE F TS I Y I T H G |

i) 3MTF T T R T ARG W W I oy FaRd | 3
6. a) Addthe below mentioned Binary numbers and
i)  Express the result in'binary form. ’ 3
1) Find out the decimal equivalent of the resultant binary number. - 3
10011
1100
10111
- 1010
b) 1) Subtract number 101100 from number 1001011 (Both are Binary - 3
numbers) "using one's complement of the number to be
subtracted”.
ii) Find the decimal eqmva]ent of the resultant binary number . : 3

7. ‘umE wEeE § e T0g Teliae (Front End Application) &1 83 & 12
S e Har § YR gan € 39 9 & JRe T FER WS (NB module)
e iRt Var AT (Policy Servicing module) F ded ¥ AR

7. The customer service has improved after the introduction of Front End . 12
- Applications in Branch Offices. Explain with reference to NB and Policy
Servicing module .

8. ) .2 fr@ M SveE We # Had (Octal) FHFN FAEY |

i) 145 i) 245 : (3 & 3 30)
) ﬁmﬁwmmmmmmr '

1757 i) 1947 (FIF B 3 37)

8. a) Findout the Octal Numbers in respect of the below mentioned Decimal

numbers :

iy 145 i) 245 3 each
b) Find the Hexa decimal equivalent of the below mentioned Decimal

numbers : : ]

iy 1757 i) 1947 : 3 each
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9.

10.

10.

AC 21
mmm(LocalA,reathworks)%Wmm%ﬁaﬁﬁ 12
fafae 1+ ‘

List the advantages,and drawbacks of Local Area Networks . 12
(5% & 4 3(%)
) T - T 3 qUTTeR (Hexa decnmal Number System) Fapsht - .
WA’ ¥E BT E ? o
) a4 ARt (Generation) F F wfll & AR F fifaw |
%) Y9HE IET (Punch Card Equipment) 31 31 -3 fiwand 2 7

a) In Hexa - decimal Number System What does English Alphabets ‘A" 4each
to 'F Stand for ?

-b) - Write disadvantages of Fourth Generation Computers .

c). What are the characterstics of Punch Card Equipment ?
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NOVEMBER, 2007 | Tz R |

ASSOCIATESHIP EXAMINATION'
LIFE ASSURANCE UNDERWRITING

S WHmi3Ee] . (et e 1 100
Time: 3 Hours] [Total Marks : 100
wmwﬁ%ma&mmmm#mm%Mmaﬁaﬁ:ﬂ%nm

il g U 12 siw S E

~ Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

' » Marks
1. Sfrw Rt fafeg - : (TF * 4 30)
© W) T Y FHI O SR ST g JA
) wRedAra e fim
) - geararedn § S ‘ o
%) whwlE @ve
1. *Write short notes on : - 4each
a) = Standard Age Proof and Non-Standard Age Proof .
b) Convertible Whole Life Assurance .
¢) Insurance ip Advanced Age .
d) Restrictive Clauses .
2. sﬁmmammwwmwvﬁr{mwmén 12
i) sl B - Mg 30 o, ffaRe, ¥
i) EEEE - TR % & FEAN YER 95 § FEE
RECALY ,
i) A T avafy - - rafyy S erafy 30 a9
Civ) yEfEEdm Ot - ® gTw
v) Y& @ (dfa @ qd forr ) - S afe w. 2 @
vi) TR g - Radggss add ey geama A 4

b vgA ¢ & 1 59 affg w1
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‘ AL -22
vii) RIS - i) a9 SfE 30% ¥
' - i) WA 130/85 o
iii) zﬁﬁqﬁﬁm%m%m :
ammﬁqﬁg{nwhmm ’
SRl :
iv) 7= s ol a1
vm)i?'ﬁmmmI . '

FAZY F1 37 HAHIRAT T =R, dﬁaﬁé@aﬁtmmmm
% e e ar e ) S =R, st Fofa of T

Following information is available from a proposal for Life Assurance . 12

i) Female Life - Age 30 years, Married, one child .
i) Occupation -- Working Joumahst with a leading newspaper in
~ thecity.
iii) Plan and Term - Endowment Assurance, Term 30 years

iv)  Sum Proposed - - Rs. 8 lacs . )
v) Previous Insurance - Sum Assured Rs. 2 lacs
taken 5 years ago
vi) Family History - Father died at age 58 , four years back due to~ * ’
heart attack. Mother aged 59 is alive .’ :
vii) Personal History - i) Overweight by 30%
ity BP 130/85 .
iii) Hospitalized for Malaria treatment 2 years
back . Recovered fully. :
iv) No other adverse feature .
vm) DAB is required . : , K

State what further requirements are to be called, if any and how to proceed
with the underwriting of the proposal, giving your deCIS!‘Qn

AR - o (el
i) faoy geg i

iit) - TETA

iv). ®e1goT .
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- Describe briefly :- o < 3'each
i) Rheumatism and Rheumatic fever . - I

ii) . Special Heart Report

iii). Deafness

iv) Corneal Ulcer. ~

e &1 dimiEa Tee TR - : (5% & 4 37)
i) o '

ii) YA

ili) YAy it 1 fawproT |

Give underwriting significance of :- _ 4-each
i) Asthama

it) Adenoids
iti) Bronchiectasis .

aﬁﬁqm%mnﬁamw%maﬁwamq{&dﬁm 12
aifee ?

What are the requnemems to be submitted for proposal under Key-man 12
Insurance ? .
M-%Wﬁ@qﬁmaﬁtm.ﬁ%wvimr 12
Describe briefly Cerebrospinal System and its impairments. 12
. %) Prefafee wRe w9 F R & RiRe -  EmE3AE)
i) FBS i) ESR i) CBC

q) W W T AT 3 7 v S & am fafew
¥) w9y § Rt s seaam ad 2
iy suc iy ASA 3R iii)) TASA
7)) fr forfigs aretelt & fue & dery F o e 27 g ffa
i fama s e w g
iy S I REw wang
iii) fwey 7 Rag w g
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AL -22
7. a) Expand the following abbreviations : = 3 each
1} FBS i) ESR . iii)) CBC o
b) Give the names of atleast three Common Intestinal Parasites .
¢) State brieflPy what is meant by : .
i) SUC ii) ASA and iii) TASA
d) Bring out briefly the following terms wnth an example -
i)  Age last birthday
ii) Age Next birthday
ili) Age Nearest birthday .

8. di A FEaTS <09 TR B R ¢ 12
8.  Explain the Numencal Rating Method of Underwmmg 12
9. mm@mmwmamﬁs@m@ 12

sgaard ¥ ya Prafor 3R e wr d

9. Define occupational hazard ? Explam in detail how.it 1s assessed in some 12
of the :mportam occupations .

10. mwmﬁmm (e 5 3 31)
i)  eenfisR ' :
i) 39 GENEN * s
i) IFa Hod
v) mﬂﬁ@ﬁ

10. Write short notes on :- ‘ ‘ :  3each
i) Lien ; :

it) Hypertension
iti) Cirrhosis of Liver
iv) Hysterectomy-.
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oo otmetmatm AL-23
' e offar & wanT |

ASSOCIATESHIP EXAMINATION
APPLICATION OF LIFE ASSURANCE
Y36 ) v B . [FE w100
Time: 3 Hours] [Total Marks : 100
ferdl 31ms wel & Ie AR | worw wva & 16 3fm § foneg g arfrard i
FaofivRs T 23T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

i Marks
1. memﬁwﬁmm (I & 4 37%)
3) AR :
H) THaH - Hifmm
™ FPEE
¥) T Siaq
) s & Qe

—

Write short notes on any four :- ‘ 4 each
a) Nomination '

b) Level Premium

¢) Experience Rating

d) Postal Life Insurance

e) Janshree Bima Yojana

(IF & 6 3F)
2. &) mwm%mmmﬁm#mmaﬂm
AT (3. 4. TH. IT.) 1976 B A0 BT @ | SR
D) 39 I ey § g sifue ar )
1) u's'fam%:ﬁ‘—rqaﬂé 3ﬁ"
i) wmmmﬁmmma}u%zmﬁmg@
) 9% JasC % 9refg e @ o 3w f9r A wen #
FE &t s T S e (3. &, T m)ﬁﬁm%mw
o yoR a1y el & 2 ‘




AL -23

a) As an employee welfare measure Government of India introduced 6 each
E.D.L. 1. 1976. State : "
i) What was rationale behind the Scheme,
ii) - to-whom it is applicable and L
iii) Benefits under the Scheme as per the amendments applicable
w.e.f. 24.06.2000 . ‘ :
b) Bring out how L.1.C’s Group Insurance Scheme in lieu of Govt.¢
.E.D. L. 1. Scheme is more beneficial ?

ey T W % A T I & Sfaw w0 # R sgd el 12
S| 79 o ) o wnse o deeel & fog geme AR
feiemgert S o 3 W 1 '

“Living too long is as much arisk as dying too early”. Explain the statement 12
fully and suggest the plans to lead anxiety free life .

%) SR e ) ) e d S E ? (5 % 6 57)
@) @i e A F0T § YT F 99 F T | '

a). What are the life insurance needs of business organisatidn 2 * Geach
b) Briefly state motive behind taking out keyman life insurance . ]

&) aﬁﬁaﬁmmﬁﬁmm‘ﬁaﬂﬁaml 8
|) T it i ¥ s R ey suer € 7 U 4
a)  State basic plans of Annuity bringing out différences amongst them. 8
b) How many options are available under an Annuity Policy ? 4
e 98T (5 F 6 37)

) T e e A A A S e A
Q) P A T et Ser Ao st diftva T AT )
Distir;guish beiween :- | , | - 6ea§h

a)  State Industrial Life Assurance Plan and Salary Savings Scheme . -
b) Privately administered Pension Scheme and Insured Pension Scheme.

25




AL -23
mw%?qﬁﬁmﬂm%aﬂaﬁﬁmaﬁtm@m 12
fawg & fafaw |

What is reinsurance ? State and discuss in details mcthods of remsurance 12

in Indemmty Insurance . )
_ (m%um)
F) FUARA I 3T F FAF ‘ITEH P JREET 1972° F siwia
e e @ 1 AEY P o s & e 7 P o 2 st e
i stiRAATd & R 392 & AR S e R T d |
Q) mmymmﬁﬁﬁmnmwmmww
o € 7
) Wﬁmmmﬁv@wﬁm%@mmi“
T dedt A & et A saRg

a) 'Payment of Gratuity to employees is governed by payment of Gratuity
Act, 1972, State to which establish:nent this Act is applicable and
contingencies in which it provides payment of Gratuity ?

b) How can employer make provisions of payment of gratuity to
employees ?

¢) How is L.1.C.'s Group Gratuity Scheme more beneficial ? State the
benefits of Cash Accumulating Scheme.

%) ’mmw;mmmﬁ’umwmn(m%4m)
§) A Site S P & sham e At @ Wl 8 aufr SR :
) oy ST A agr e & 2

a) "Whole Life Plan is basically Term Assurance Plan". Give your 4 each
comments. .

b) Describe briefly Jeevan Anand Plan of L.1.C. of India .

c) What is special about Amulya Jeevan ?

10. Wmm%mﬁwaﬁzm !

IO State and explain elements of Life Insurance Pncmg {Premium).
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e sﬁawaﬁmaaré&rrﬁa;w

ASSOCIATESHIP EXAMINATION |
LEGAL ASPECTS OF LIFE ASSURANCE

|G 36T ] ‘ (e 3w : 100
Time: 3 Hours} ' ' [Total Markg : 100
RrT o vl % I ARIT | Tuw UR ¥ 16 o & Ry T arfrard A

- rmafTRE Y 23 HR L

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1. P forfaa 3 & el SR w4 ool fee - (m%’f;’%
= 3o , ,
®) = g g
) #-A &

- F) AR JET 9 o
T) ORA § IS e ¥ SRS | K

1. Write short notes on any four of. the following :- 4 each
a) Labour Laws ‘ ' ‘
b} Judicial precedents
¢} Key-man insurance
d) Succession Certificate )
e)  Powers of Supreme Court in India .

o , (I & 1Yz 3iF)
) ) RRAERT () I T i) 91 S fE o
Teegur Ay 1986 & v fra T &
@) e S ool & siata R e ) S i anmreE g 3
EiciE
) "‘ﬁhmﬁwmmnﬁmsﬁmmamﬁmt%b%m 6
&R g, mﬁmﬁﬁaﬁmm%mmm% m
78 3if o AT € 1 R :




a)
b)

c)

&)
q)

a)
b

%)
G)

b)

F)

AL -24

Defme ) 'Consumer and (ii) 'Servnce as defined under Consumer l‘/z each

Protection Act, 1986

Which types of deficiencies generally are covered under life insurance
policies ?

"The three tier redressal machmery provnded under consumer
protectlon Act, 1986 after recent amendments made under the Act
has made it more effective”, elucidate .

apverdur @ 9

i) T I ) s § 399 SR I H el @ ?

ii) T e sl wiferedt e & fI 16.08.2007  wRwaa g8 o
HrieRat ST T U QT fera § R T 1 17.08.2007 #
viferefieTes Y e & T ¢ [ Y o St R @ 2

What is Assignment ?

i) Can an Assignee get a better title than the Assignor ?

it) A life insurance policy matured for payment on 16.8.2007. The
Insurer delayed the payment by one week. On 17.8.2007, the
policy holder died.
Who is entitled for the payment ?

Y Al sk s el @ Si JARY |

i) A & o 9 de-aet S R @, @F’Ezﬁm |

it & g 7
ii) oE fmr oit safeETa fimn T SR SART |

Distinguish between Joint Tenancy and Tenancy in Common .

i) Can a group of people going for picnic ge! a group Insurance
Policy ?

ii) Differentiate between Group Insurance and lndmdual Insurance.

‘e B ot 79 F & I R & w9 wgaa e I d 1 39
mﬁwmm%mmm@m%ma
nﬁﬁtmsﬁ(mamﬁmm)%mﬁmu .

28
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@) i) dmRaEEmemEe? , , | 2
i) agaa‘ranam%” !
iii) ﬁnﬁf@amﬁﬁiﬂﬂ@ﬁaﬁmmﬁm (DT & 1 37F)

37) e - wEd ‘
q) TR I I R F A R

¥) WY A T FRe & St T

7) UEHR P FIAGR & fia W1

5. a) 'Taxation is also utilised for providing incentives for savings.' Explain 5
*  this statement with relevance to incentives provided under Income
Tax Act, 1961 (with latest amendments) for life insurance policies ?
b) i)  What is meant by insurable interest ? , 2
ii) Why is it essential .? : 1=
iii) Explain the extent of msurable interest avallable infollowingcases: | each
a) Employer - Employee :
b) Partner on the life of co-partner
¢) Surety on the life of Co-Surety.
d)  Creditor on the life of debtor:

6. F) aﬁmﬁmaﬁmﬁmﬁwmwm%?sﬁﬁ e 6
ik arerma 7@ § ? :
§) FOT AR GHART - wmmmmmmmﬁ
yEami (5% % 2 3iF)
) A Y s A T, @ﬁ:iﬂ%gszaﬁéma%ﬁmumm
TR R R Igma ™
i) P T 3 3 e v @ W e e oiRnd R %
Zae T  seee HA |
iii) R FaTee s P 9w aw 2R sieE § aRfaf| woR 9,
T qE-FH A AT

6. a) What is meant by disability benefit under life insurance Contract ? 6
What are it's terms, conditions and exclusions ? '
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Explain with reasoh_s, whether double accident benefit claim would 2 each
be admissible under following cases ? ‘
) Mr. 'E' a daily commuter, one day while travelling on railway
footboard died due to falling on railway line.
ii) Miss 'S’ committed suicide in the 2nd year of life insurance policy
" due to failure in love affair. ‘
iii) Wing Commander Mr. 'T' while on deputation to South Africa
died in war operation . '

‘Foreyor 3k svaRa’ § siat FART |
wﬁﬁwmmmr@ﬁ?maﬁmms
F URT 45 3 Feaed MY F S SUR gUERY |

o HR 7 14.02.2004 ) Shtaw fmy G o 1 =W F FR0T 3T
7 12.01.2005 = & Y 1 St @ geg A g 05.07.2005 F
foreft 1 et 3 e e & @ Pt 12.3.2007 3t fran |
ﬁvﬁamwﬁ%mwmaﬁﬁmﬁwmmﬁw
1938 & ey 45 &t @y &t ?

Distinguish between Representation and Warranty .

How far life insurance policies are indisputable in India ? Explain
with reference to revelant provisions made under Sec. 45 of the
Insurance Act 1938 ? . ,
Mr. 'R’ took life insurtance policy on 14.02.04 . He died on 12.01.05
due to AIDS . Death intimation was received by insurer on 05.07.05.
Insurer took repudiation decision on 12.03.07 . State with reasons.on
the basis of decided court case whether Section 45 of Insurance Act,
1938 would be applicable ? :

) ‘st ok @l & fren R s b sfafrae & st
fore yrar & sraR Rt #ifve |

i) W Al ot 9% 1 R FART |

‘T B T (qui facit per) “TEGH FRIZ WA (alium facit per se)

Ferad i s¥fvvaal = it & wed § wasmEw




10.

a)
b)
&)

@)

a)

b

%)

T)

a)

by

AL -24

i) Define the concepts 'Agent and 'Principal’ as provided under
the Indian Contract Act .

ii) Distinguish between General Agent and Servant . 3
Explain the maxim “qui facit per alium facit per se’ with reference to 6
the role of an agent . ‘ «
mw%mmm%mmaﬁmw%vm 7
Sfufr 1963 ¥ drat FauH & oirfa soR gAERT 1

AT B 359 el % AR At 96l #RY | 5
What is period of limitation for suit on policy monies ? Explain the 7
relevant provisions under Limitation Act 1963.

State the powers of High Courts in India . 5

(3T F 6 3F)

SRR 1 WA’ ¥ JRER & e § a4 oaee 8 7 AR &
AT Rl 35 P A S TR 3T T TR T & T8
T =, A A v o s oiferd 3 sfte @

e | sfufrem 1872%Whﬁqmmum%w “dfea-
famferr’ & faftr afel W wmw oifene

What is meant by an ‘Evidence of title’ in respect of death claim ? 6each

Describe the various proofs of title, the claimant may produce where
there is no subsisting trust, nomination or assignmem under life
insurance policy .

State various modes of discharge of contract as prov:ded under Indian
Contract Act, 18727

eeee THTE -one-
S ) pe—

|




o it AL2S
' - Shae o yee

ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE MANAGEMENT

g 3] ' [ 3ia : 100
Time: 3 Hours] ’ {Total Marks : 100
Mmm%wmnmm%mmﬁﬁawmﬂﬁ%l
I AN IRAHE I 123FFE |

Answer EIGHT questions only. Question ONE carries 16 marks but’ this is not
compulsory. All other questions carry 12 marks each.

| . . Marks

1. e R e Rrufirf fafe - (7 & 4 3ih)

F) oitdife faar sffam 1947

@) I

M) g fawey

¥) IwgUur
ﬁI. Write short notes on of the followihg - BN o . 4each

i)  Industrial Dispute Act, 1947 ‘

b) Motivation

c) Settlement option

d) A§signmem. ‘
2. &) o Prams @ fasm g € T & fawg § fafew -8

§) 3 goEER o § S-S e & 2 4
2. a) State'the set up of the Insurance Regulatory and Development 8

Authority (IRDA).

b) Who comprise Insurance Advisory Committee ? 4
303 PEEmant? 4

@) e & anil A qam afted & a3 e SR 8
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a) What is Decentralisation ? ‘ 4
b) Compare the advantages of Decentralisation over Delegation. - 8
F) waR AT & & el wEel & v FRC 1 5
) WWMﬁgﬁﬁmm%mWﬁﬁﬁmw g
a) Describe Barriers to Communication . ' 5
b) Explain the important factors for ensuring effective Comminication . ]
(nﬁm ¥ 6 3i%)

F) Al B T Y TR T S ¢ | W W
feram fafaT : .
@) TF T o yoneh & fift @l A s

a) “Transfer of people from one place to another is inevitable" - Discuss. 6 each
b) Mention the various stages involvedina Sound recruitment process .

EEEICLis Wﬁmaﬁtamm@m&ﬁmsﬁ Y
mmmﬁmm()%mm&z%s '

Explain the term "Consumer” and mention the important rights avan]able : 12
under the Consumer Protection Act 1986. N '
’ " (e 35 6 37%)
F) Wﬁﬁmﬁﬁaéqﬁaﬁﬁmaﬁm%\” fofm |
Q) %ﬁamm%ﬁwﬁmaﬁmﬁwﬁwm
g foflge |

a) - "Training people is not only desirable but absolutely imperative.” - 6 each
Discuss .
b) Enumerate various training methods and descnbe any two of them in
detail .
A FARY - ' . (% ¥ 4 3F)
F) sfema dm iR o 9w o
@) za Rargm ik gar Pret Fo .

) € ot - A

33
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AL -25

Distinguish between ' 4 each
a) Individual Assurance and Group Assurance . : :
b) -Claim concession and claim repudiation .
c} E-Commerce and E-Mail . i
F) e i oRRR ¥ iy s Prem Fr @ 2 (% ¥ 4 37%)
) I Y F R R ? :
) 37 zmel F 599 ¥ gy R sl Sl we € ara g
At it o= 7 = g |
a) Whatis non-forefeiture régulation under Life Insurance Policy ? 4 each
b) Whatis the object of the non-forefeiture regulation ?
¢) Briefly state the circumstances under which the insurer can not forefeit
the premiums already paid . :
(7T & 6 i)
F) mg@mm%mﬁmﬁémm%r’mv
Q) wﬁﬁm#mmmﬁufmi"
a) "Appraisal mamly deals with the performancc of Employees” - 6each
"Discuss.
b) What are the dlfferent appralsal systems in practice in India ?
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“Sia ot fae '

ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE FINANCE

g 3ue ] ‘ : [ 3 ; 100
Time: 3 Hours] {Total Marks.: 100
forli 2s Tt 3 IR AR ) TR W & 16 mtﬁr-guzawﬁaﬁwif%n
st yRs v 12 3m H §

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory All other questions carry 12 marks each.

: -~ Marks
1. 31.03.2007 # Yo wR A oo o et R A g A 16
ﬁﬂﬁﬁﬂﬁ%nmmmﬁmmsﬁmﬁamamm
791 qo 9 FaR HE E )

. " () g )
w0 ol m -
; w®. ®.
. - afaiem : " 14,600
2. affER _ 11,400 ‘ -
© 3, afbE g T wew - 10,000
4., TEREH . 8,400 -
5. U 2,03,600 -
6.  uRugEar @l 6,15,600 -
7. Ffwal B S - 2,84,000
8. g pdmwai 8,400 -
9. BT HER R FHTH - - © 6,000
10, FEH St W EdEA ; C.o 43,650
11, e e §F 99 2,217,500 -
12. . 9 G9T SR 3,76,800 -
13. SSUA %I 2,51,200
14, wETeR A e 1,35,900 -
15.  wgd s Mfgw - 76,000
16, RE § g wefy .3,20,875 -
17, srEa sl 3 P 1,70,25,600
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w®. .
18.  fraw s @ - 3,10,000
19. G RAFR SIS : 1,71,000 .
20. =y, fawoa agr e - 14,41,000
21. Wﬁfﬂm‘ﬂﬁaﬂqﬁ 2,70,000 -
22, wEETEN _ -+ 2,10,000 -
23, it s 18,17,000 -
24. oy & dys wORED ©26,13,000 -
25. Shaadmfafy - 1,87.67,225
26. WEEIR - 56,000
27.  THA - G ' - 71,000
28.  HFHTNET - WRyEEAr , - 1,35,000
29. @A - g foar - 27,000
30. swEndifEy " 2,90,000 -
3. TP . - 3,70,000
32, Wl o R w ey ‘ - 27,000
33, iferdt sy . ' - . 2,70,000
34, @EEg 4,000 -
35. . FdETorfifyas - 31,00,000
36. WRER - - 500,000
37. faRwIwer 80,000 -
38. wnd ey 1,91,000 -
39. Rl - YOI ey - 43,000
40, ﬁﬁuwa@m 11,000 -
F - 2,51,96875  2,51,96.875
e F fe T smavas & e S -
1) R sffl § P & e e - . 1,66,98,600
2) EEER AW ®. 15,000
3) ® 1.so,oooa§’rzaﬁmﬁamwm%m:rram
4) 3r¥ireg aur Wiy WOt ¥ Rrg s § siwor ®. 21,000

5) 3l afde R w1 ¥ w9 § wier 78 &. 10,000
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1. Thefollowing balances appeared inthe books of M/s. Evergreen Life Insurance ~16
Co. Ltd. as at 31.3.2007. You have to- prepare Revenue Account and the -
Balance Sheet in the proforma prescribed under the Insurance Act, 1938,
‘ (Rs. in Thousands)

Sr. No. Head of Account , . (Delﬂg : (Cre%lg
1. Agents balance(net) 14,600 ‘ -
2. Annuties 11,400 ,
3. Annuties due and unpaid - 10,000 ~
4. Bonusincash _ . 78,400 -
5. Claim by Death - 2,03,600 -
6. - Claim by Maturity 6,15,600 ' -
7.  Commission to Agents , 2,84,000 -
8. - Commission on Reinsurance (Accepted) 8,400 N
9. Commission on Reinsurance (ceded) - 6,000
10. Consideration for Annuties Granted. -~ .~ - 43,650
11. Cash and Bank Balances © 227,500 - -
12.  Salaries and other allowances 3,76,800.

13.  Other expenses of Management 2,51,200

14.  Furniture and Fixture _ © 0 1,35,900

15.  First year premium - 76,000
16. House property in India » 3,20,875 -
17.. Investment in approved securities .~ 170,25,600 . -
18.  Investment Reserve Account - 3,10,000
19.-  Income tax deducted at source - 1,71,000 :

20. Interest, dividend and rent ' - 14,41,000
21. Interest accrued but not due 2,70,000 ' -

+ 22. . Interest outstanding’ 2,10,000 <
23." Loanson policies = 18,17,000 . -

- 24.  Loan on Mortgage of Propeny 26,13,000 : -
25. - Life Insurance Fund ' 1,87.67,225
26. Motor Car ' 56,000 -
27. Outstanding Claim- Death - : - 71,000
28.  Outstanding Claim - Maturity - T 1,35,000
29." Outstanding Claim - Written back - 27,000
30. Outstanding Premiums 2,90,000 e -
31.  Outstanding Expenses ' Lo 3,70,000
32.  Profit on Sale of Assets - - 27,000
33, Policy Deposit _ - - 2,70,000

34. - Prepaid Expenses N 4,000 o o

37




' AL -26
Sr. No. Head of Account (Delﬂ'g) (Cre%i;)

35. Renewal Premium - 31,00,000
36. Share Capital v - 5.00,000
37. Sundry Debtors 80,000 -
38. Surrenders - 1,91,600

39.  Surrender value unclaimed - - 43,000
40. = Sundry Deposit Recoverable 11,000 -

Total : - 2,51,96,875 2,51,96.875 -
Adjustment wherever necessary for the following are to be made :-
1) Market value of investments Rs. 1,66,98,600
2) Depreciation in House Property Rs. 15,000

3) - Provision for accruing Gratu:ty Llablhty to be made
to the extent of Rs.  1,80,000

Transfer to Reseljve for loans and doubtful debts  Rs. 21,000
Contingent Liabilities not acknowledged as debts ~ Rs. 10,000

A% 31.12.2006 F Yud Jaar # A qove ¥ P @R TR
- 31-12-2006 T T -

- wHieR @raryid

R 1.1.2006 F

e FoT

T2 WA

T AT

PR v 1,000
& § 7358 ' 2,400
wq - \ 2,00,000
Frate : 60,000
e ue el - 5,00.000
= .

319 qrogt : 3.000
fafay 2w 84,600
TIHROT 370 : :
Ll ' 18,000
EoCt 1,08,000
el fruan ‘ 50,000

NN B LN~

—— = \D
N o




.
]

wUTE @ g W T
w. w,

17. R 1,00,000 -
18, wliww 5,000 -
19. sk A 5,00,000 -
20. gfam - 20,000
21, yaRe 10,000 -
22, U - 10,00,000
23, 3E 6,000 -
24, WER - 69,600
‘ 16,75,100 16,75,100

freanEeE ® - -

i) WE & T H 10% F ghe

i) Preifea W AEIER Teue ar S

HeR 10%, wiie @ 7=l - 5%

iit) T Togh - ¥. 6,000, T I - F. 12,000

iv) faftem sreiem =01 - . 600

v) mm%qmms%aﬁaﬁaﬁzm&mmz% WY

From the following Trial Balance of M/s. Devyani as at 31st December -

2006, prepare Final Accounts .

- TRIAL BALANCE - As on 31-12- .

. gER T
vi) 3fH O F 4 - ¥, 50,000
12

Head of Account

Ro.

' (Del]g)

Stock ason 1.1.2006 -
Bad debis

Discount Allowed
Discount Received
Cash on hand

Cash at bank
Purchases

Office Rent

Plant and Machinery
0. Saies

N —

Se RN s

39

" 5,00,000

(Cre?g)
25,000 -

1,600 -
500 -

1,000 -

2,400 -

2,00,000 -
60,000 S
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The following Adjustments are to be made :-

i)
ii)

iii)

iv)

v)

vi)

% . Head of Account . ' (De?{Q (Creﬁg '

. Returnlnward 3,000
12.  Sundry Debtors - 84,600 -
13.  General Reserve . - 80,000
14.- Wages 18,000 -
15.  Salaries , 1,08,000 -
16. Factory Rent v 50,000 -
17.  Fumiture S 1,00,000 -
18. Commission ' ' 5,000 -
19.  Land & Buildings 5,00,000 :
20. Bills payable - 20,000
21. Bills Receivable 10,000 -
22. Capital . -~ 10,00,000
23, Drawings ' : 6,000 -
" 24, Creditors ' - 69,600
~16,75,100 -16,75,100

Appreciation on Buildings @ 10%

Provide Deprccranon on Furniture @ 10% and on Plant & Machmery

@ 5%

Outstanding Wages were to the extent of Rs 6,000 and Salaries were

to the extent of Rs. 12,000 ‘
Provide further Bad Debts to the extent of Rs. 600

Creat Reserve for doubtful debts @ 5% and Reserve for dlscount on

Debtors @ 2%.
Closing Stock valued at Rs. 50,000.

ey it Rt R -

#)
@)
)
)

IR o IRewT 3 R |
fmr aiffem & aw 28(T)
TR FER F A sHrpateit A
P fafty weafiy (R e dwe)

Write short notes.on ;-

a)
b)
c)
d)

Types of Internal Audit.
Sec.28(A) of the Insurance Act.

Four Types of Advances to Agents .
Sinking Fund method of Depreciation . -

40
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Prraed @ TR SRl M R A A R TS S22
i) 31.03.2007 R ¥. 80,000 F1 TR FoH T FHTA |
ii) qs:ffatmza 900%a%vaaﬁﬁwsﬂtmﬁaﬂﬁmﬁm
™
iii) ¥ 400 ® Ay =iy oo ALS €I & 500 3 7 5 |
iv) 3% g0 E. 2,000 F 2T A1 TRT H PR T TR F TUH &
150 & FaXdr |
v) 31.03.2007 S . 18,000 F THAT TR T | ,
vi) TFAmRE FEn A ds R S sT A ®. x400ﬁ:%ﬁzﬁmu

Pass Journal Entries for the following transactions wnth narrations : 2 each
i) Outstanding first year commission Rs. 80,000 as at 31.03.2007
ii) Purchase of furniture worth Rs. 90,000 wrongly debited to Plant and
Machinery Account.
. iii) Purchase of Revenue Stamps Rs. 400 and Postage Stamps Rs. 500 in
cash .
iv) Paymentof Penal Interest amounts Rs. 2,000 by cheque and deduction
of Rs. 150 by way of Income Tax .
v)  Outstanding Maturity Claim of Rs. 18,000 as at 31.03.2007
vi) Bank has debited clients account for Rs. 1,400 towards Bank Charges.

%) s o 3 & 9 ‘ |y ¥4 3
@) a9 frm & 3evd & o ¥ fafaw :
) R enfde WEE |

a) What are the advantages of Budgetary Control ? : . - 4each
b) What are the objectives of Budgetary Control 7- ' ’ ‘
¢) Explain briefly the term SocioEconomic Profile .

&) mﬁs@waﬁwm%? ’ | 4

@) Shaa dm & 8 ¥ v R 98 T 6 8 (é)maﬁwﬂaﬁz 8
e e st ¥ Rt iy i Y e e de HRER S
froqre ¥ Profa % Rre so Sy & frdw dad 3§ AR
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a)

. ®)

q)

a)

b)

AL-26

Discuss various limitations of Ratio Analysis . v :

List out 6 ratios used in life Insurance Industry and give your comments
on any three of them for their usefulness for judging the perforinance
of the Life Insurance business .

hwmﬁﬁﬁw.mﬁ?mm%aﬁﬁ

fafge 1 - »

31.12.2006 B U we Fd & 5§ weRfa Prifea Recon 3

i) U gF & FIER A (HR2) ¥ 25,500

i) T, # R W F AW W 28.12.2006 H 1d A T
®. 10,000 Tt (each) F 9% # q 4 (C) = ol fvan v A
2.01.2007 Ft % & PR 3 FqA 6 w7 |

iii) . 5,000 & 9% ¥ ¥ yeqa AR T g P A e

iv) 31.12.2006 I ¥. 200 % S g1 hfee frar T v Foha
¥ gfafe & it W™ :

v) E. Szoomﬁaﬁrﬁﬁmmmwma’%
31.12.2006 H ripa & T |

vi) TH 9% S F. 720 A I ) ¢ o 3 IRER A @ A 270 R
T A A% F e & T @

vii) 99 g H NG W &, Soomam%ﬁzmﬁf@mgﬁaaﬂ
R @ oy

What do you understand by "Bank Reconciliation Statement Bring

-out in brief the importance of it .

Prepare Bank Reconciliation Statement from the following particulars

appearing in the books of EMPEE & CO. as on 31.12.2006.

1) Credit Balance as per Bank Pass Book is Rs. 25,500

ity Out of the 3 cheques issued to Mr. A, Mr. B and Mr. C for an

-amount of Rs. 10,000 each on 28.12.2006 Cheque issued to Mr.

C got cleared on 2.01.2007. '

iii) Cheques paid into bank not yet cleared Rs. 5000

iv)  Interest credited in bank on 31.12.2006, to the extent of Rs. 200,
not accounted in Cash Book. '
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v) Abill discounted with banker, was dishonoured on 31. 12.2006, -~
to the extent of R$.5,200. - '
vi) A cheque issued for Rs. 720 is entered by cashier as Rs. 270 by
‘mistake which is encashed already. ;
vii) Interest on overdraft debited in Pass Book but not accounted in
Cash Book to the extent of Rs. 500.

#)ﬁ@mﬁﬁ@éswﬁﬁ?ngam%aﬁﬁmﬁml B

- |@) mmm@mmmmmma@mﬁ 8

. g Ff

' a) "Write briefly abcut 3 major consideration in Selecting Accounting 4
“Policies .
b) List out at least 10 Accounting Standards ussued by Institute of - 8
' Chartered Accountants of India . .
ﬁmﬁxﬁw%wmaﬁtmmmmaﬁmn 12
Explain in detail 4 tools and techniques of financial analysis . ‘ - 12
Ftifhe & TR sie W R N . AT H43E

¥) Yt qur g mftaat o
T) ale fAaaor aur el S |
g) fivwEd amAeemd

Distinguish between : 4 each
a) Capital and Revenue Receipts ) -

b) Internal Control and Internal Checks .

¢) - PAN No. and TAN No. ‘
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T e e AG-51
ferfdTee 3t &t o1fi 3tTueTy

ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES

g ;3T ] (G 37a : 100
Time: 3 Hours]} [Total Marks : 100
el oTs T % w1 e e % 16 3ieh § g g Pt T €
o= ool 7E wed 12 |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(9l % 8 3i%F)
1. ¥) mﬁmﬁmmm%ﬁmm%mml
I T S | Wt 359 TR & Seoid IR |
) T S gfve eerl A S SR it T e i

I. a) Name the various products of petrolium refineries and petrochemical ~ 8 cach
plants. Mention few points regarding their fire hazard.
b) Explain any two unit operations and fire hazard involved.

2. ) TR =T % SIE % YR N A P V@ A | (5 F 6 5)
7) 9 & el F gEn/wEin e § ot & g S W SN )

2. a) Draw process flow chart of manufacturing of Black tea. 6 each
b) Explain Fire hazard in Drying/Firing Section of Tea factories.

3. Hicaw TN Gl § i T WoTe R 1 12
3. Discuss the Fire hazards ia Solvent Extraction Plant. 12

4 T TE S Pefen gl A oy TR B W A | (R S 4 30)
) Qa7 A .
) BfEm
q) daesfl

19
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Explain the following process and Fire hazard in Rubber Industries.
a) Solutioning or Cementing

b) Spreading

c) Calendering

WQWWQ:-

3) FREFEA T oS H el '

) ity Tom ¥ s 89 9 FfET e
¥) @ d W gErw

Write short notes :-

a)  Contro! rooin in hydrocarbon processing plants.
b) Cutiing oils used in Engineering Industries.

¢) L PG Storage.

ot S fiver H eare wfthan & 20 o @ Y g F FW Q FA A
% o 1 T2 39T I TR 2

What are the steps to be taken to minimise incidence of fire in
manufacturing process of a jute mill ?

ot 7 S el o weod  faftrt axft et = v e
Identify the various fire hazards in respect of Gin and Press factories.

AR T % R WERT ¥ 6 A STl o Ry 2w & 2

What are the preventive measures recommended for indoor storage of
finished Paper ?

ot $Praf e 3 B e P ¥ gy o e S 3 A
T

Describe the loss prevention measures for a spray painting department of
an Engineering Industry.

.

4 each




3
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10. SRS I & =it o1 FURReT wo § a1 S & F FRoT R & 2 12

10. What are the causes of Fire in Blow and Mixing Rooms of Textile Industry ? 12
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NOVEMBER, 2007 .
A= AT e

ASSOCIATESHIP EXAMINATION
GENERAL FIRE HAZARDS

w3 e [T 37 : 100
Time: 3 Hours] [Total Marks : 100
Tt 3t w3 S PN | e wve & 16 ik € g T orframd w2
Faaft g e 12w H

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

, . Marks

1. 3 & R SEUTEH @R % e B Rl E wed @ e 16
ST |

I.  Analyse the principle factors to be considered for the assessment of 16

‘Exposure Hazard' due to Fire.

2. diFeR | wedt REmiE % o ST ER § A 39 el A Ueem & fom . 12
F2W 33TT I =T 7

2. What are the causes of Boiler/Furnace explosion and what steps are to be 12
followed for the loss prevention.

3. @wmmammﬁmmmam 12
ST T T 39 g 9 ?

3. What control system do you recommend for Air-conditioning System for 12
large centrally Air-conditioned building?

4. Prerfean T s R Rfag | (5 3 4 37%)
) TReaRe e Fumeh
q) Ty YT Il ad
¥) o '
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Write short notes on : 4 each
a) Mutual Aid System
b) Animal and Vegetable oil
¢) Acids.
e ¥ 2 AT Tl TE S At F Iurl R < R | 12
Discuss the fire hazards associated with welding and their prevention 12
measures.
a7) 3 TR it e ST | 3
) 3 T @d & seer R | | 9
a)  Define Fire Hazard. 3
b) Give examples of Inception Fire Hazards. 9
fyferiga W dfng fwfir faflaw | (I & 4 37)
3) weEadl aa :
9) A et e
H) 31 wfoeer g @ wed & 3T
Write short notes on the following : "4 each
a) - Types of intermediate floors.
b) . Unsatisfactory Party Wall.
¢} Grading of building from fire Resistance point of view.
TS SIS & &9 30 F wre) oo dmell woee At 12
Discuss the advantages and limitations of Foam as an Extinguisher. 12
T FARET § 3 T T & Rore @R At S R 2 12
What precautions are required to be taken for contro! of fire in High Rise 12

Buildings.
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10. T T Q FEA B 997 F gEHV 3 QA deRm g ey 12
e 7

10. What are the conditions desirable for safe storage of coal from spontaneous 12
combustion point of view?




ey TR AG-54
31 sftar sfeney |

ASSOCIATESHIP EXAMINATION
FIRE INSURANCE UNDERWRITING

g 36 [ 3 100
Time: 3 Hours] {Total Marks : 100
For arms wosit 3 s ST 1 o v 3 16 37 § g wg arfrard =i &
&= wslt wdas v 12 st w €

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12'marks each,

‘ Marks
L ﬁ-ﬁ;ﬁaﬁﬁﬁmﬁﬁmﬁ@éﬁﬁmﬁaﬁmﬁﬂml 16
1.~ Give an outline of the contents of a pre-acceptance fire risk inspection 16
Report.
~ (% 4 37%)
2, mwﬁ#wﬁﬁwmm%mﬁmﬁmﬁ%ﬁaﬁaﬁmm
T ST T IrerE T |
3) g gy

%) S G e, R aeem & T ot Wi #
W) wifert Reer Seam @ Rag | :

2. . Describe the cover and mention the exclusions thereunder under the 4 each
Standard fire and special perils policy in respect of
a)  Aircraft damage

b) Subsidence and Landslide including Rockslide.
¢} - Leakage from Automatic Sprinkler installation.

3. &) derEd & wE R A § 9 4
3) m%ﬁaﬁwmmmmmm@mé? 8

3. 'a) What are the ultimate underwriting objectives? ‘ 4
b} Explain the factors on which sound underwriting is based. 8




2

AG -54
aﬁamﬁﬂaﬁa@wm@ﬁwmmw@@ﬁ 12
e R S ) Qe e S |
Mention any three discounts in premium granted in fire insurance and 12

the pre-conditions for the grant of such discounts.

Wmmmémw@ﬁmﬁmmﬂml 12

Give an outline of how atypical Indian fire reinsurance programme operates. 12
o ' (3 & 4 37)

aﬁmmmmmaﬁmmﬁ@m@m u

3) o

F) S R

¥) Infeea

Explain the following points pertaining to Industrial All Risk Policy. 4 each

a) Eligibility
b) - Coverage
c) Excess
(3 & 6 3F)
) Wmﬁmmﬁaﬁﬁ%mmmﬁaaﬁmw
&S
Frred 1 & |5 T & T, 25 TG R AL |

giferh erafa - 1-1-07§31-12-07
S 2 frdw e ) T . 1-6-07
s i o - 4-6-07
it 2.5 %o

) W%mﬁﬁ“ﬁxmﬁ&m”ﬁwmi

a) Give examples to pass an endorsement to increase the sum insured in 6 each
the existing policy. Sum insured to be increased from 15 lacs to 25 lacs.

Policy Period - 1-1-07 to 31-12-07
Instruction received from insured - on 1-6-07
Payment received - on 4-6-07
Premium rate - . 2.5%e

b) - Explain in brief "Non proportional Treaty” under Reinsurance.

26




10.

3

31 dififa % sivia frefiRaq sesi) & we A
a7) foreh foregdra el / swercor 1 af o af
q) WG A1 WGV G B At gt afer |

Explain the following exclusions under Fire Policies :
a) Loss or damage to any electrical machine/apparatus .

b) Loss or damage caused by Pollution or Contamination .

frmfafen vl W fraftra fafae -

¥) FT
q) TqeET

" Write nots on following conditions :

a) Subrogation
b) Arbitration

AG -54

(w6

“6.each

(7% % 6 3i%)

6 each

Y IHfireRct TYE b SiATia foRel SR & X i ot ue ARvSi w12

=Y STUEISH T I T |

Mention the eligibility criterias and minimum requirements to rate a risk 12

under Petrochemical Tariff.
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TR, 2007 @m Vﬁ&" AG'SS
| ’ uftorredt gifr () st

ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL LOSS (FIRE) INSURANCE

g 3w ) [ 373 : 100
Time: 3 Hours) {Total Marks : 100
Tereel ae Wl o Jre i | e wo o6 16 37 ¥ ey T arforamd T
g asft yw e 2 S E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Dx s Marks
I A o Rt & 27 T o T & o i 16
: ®,
EIEIRUB - 15,00,000
fraer ey der Sifw T YR - 25,00,000
e q9 Alftes 2 - 50,00,000
gl arafy & 2w o - 25,00,000
e =g - 1,00,000
fraer o Ao o worl peR - 25,00,000
aifr el g § S9a - 10,000
. Work out the claim amount payable given the following particulars : 16
Rs.
Sum Insured - 15,00,000
Net Profit and Insured Standing Charges - 25,00,000
Standard and Annual Turnover - 50,00,000
Turnover during Indemnity Period - 25,00,000
Additional Expenditure - 1,00,000
Net Profit and Al Standing Charges - 25,00,000
Savings in insured Standing Charges - 10,000
2. frfofen w dfa frofir fiafiae (3 & 4 37%)
) siftgm i 9o T
q) o Tl s

q) 9 HIEE T
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‘Write short notes on ; . 4each
a) - Return of premium Clause

b) . Auditors Clause

¢) - New Business Clause.

T R R wRomdt gify dim e 39 &) stavasa & a) ‘12
AV FqC T F) 6 ¢, T I9GH W H 76 da) FHRC |

Draft a suitable letter to an Insured who needs to be convinced on the need 12
to obtain Consequential Loss Insurance Policy.

maﬁm%mmmmﬁwmaﬁmwa? 12

What is the method of fixing up Sum Insured under a Consequential Loss 12
Policy?

frifefan & i 3 we SR - (T & 4 3F)
) afafd svafy aon iferd amafy

q) TSR e IR

q) Wty w8 Radaeier 3R

Distinguish between :- 4 each
a) Indemnity Period and Policy Period

b) Turnover and Output

¢) Standing charges and variable charges.

. WRomdt g (et S & e f oraum @R § oo f s 12
T frarfia ffte w2l & @ A

Explain the factors considered by insurers in assessment of ‘Interruption 12
Hazards' in the context of Consequential Loss (Fire) Insurance.

14 & arm § 9 & Ta § wRomd oy (af) oRh B ARy 2
e (S) ST 3 oy R ftr wegw vt SR




3
AG -55

Describe the cover provided by clause (b) of the specification of 12
Consequential Loss (Fire) policy in respect of Increase in Cost of Working.

¥)
9
)
2)

b)
c)

3)
9

a)
b)

.qﬁvmaﬁ(aﬁq)ﬁmﬁﬁmmﬁ%mﬁmm 12

(JIF F 4 37)
TR By wifeTed § T aRe R g R SR SeH fha

ST 7
T G & det # I FNT |
=g g ¥ ke e F 3 4 wes i F6@E ?

What cover is provided by the Suppliers' Premises extension to the 4 each
consequential loss policy?

Mention the limitations of this cover.

What factors influence the extra premiun fot this cover?

el T o T A A o ffy @ A (R 639)
R F T wmR e ?

Describe the 'difference’ method of computation of gross profit. 6 each
What are the advantages of this method?

ST 1

Mention the provisions of Policy Conditions which are Special to 12
Consequentiat Loss (Fire) Policy. o
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NOVEMBER, 2007

s dmTa
ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS
LLeEKE-Cal [ 3 : 100
Time: 3 Hours}] [Total Marks : 100
Tl arre Tl oh I AT | O W % 16 m%mqmmﬁ Eo
Tt YR OO 12 3H R E |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not -
compulsory. All other questions carry 12 marks each.

Marks
|, Prefifen R 3 grE o oTR W el @ R A AR 16
CGREE  w 1,00,000 F fre ae wies 3 GRE S 2
TR T - ®. 2,00,000 % for e o i @ gRE AR |

REHEEE. 1,00,000 - FEH # . 2,00,000
wia i g ®. 75,000 - e & af w. 1,00,000

I.  Work out the loss amount on independent liability basis given the following 16
details :-

Policy ‘A" : Covers stocks only for Rs. 1,00,000

Policy B' : Covers Machinery and Stocks Rs. 2,00,000

Value of stocks is Rs. 1,00,000 - Value of Machinery Rs. 2,00,000
Loss on stocks Rs. 75,000 - Loss on Machinery Rs. 1,00,000

2. frefefen W wfe frufivt faRa .- , (T3 % 4 3i%)
) afeedr
3) FS T

®) o e

2. Write short notes on :- 4 each
a) Warranties
‘b) . Non Standard Claims
- .¢) Ex-gratia settlements.
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3. 3 e wii % e yEuE & Sk BT | 12
3. State the salient provisions of a Fire Declaration Policy.
4. 3t QIR % sieia frdt e @ e fre W ST 9 $aW 39T 9 12

4. What steps will you take on receipt of intimation of a claim under a Fire 12
Policy ?

5. @ & e F oifow v R § R wel @ wiRe fear s enf 12
g e

5. Which are the items required to be incorporated in the final Survey Report 12
assessing the ioss ?

6. i diferedt & simi Ivoey fafe ‘T o amvRieh @ S AR | 12

6. Enumerate the various 'add on’ perils available under a Fire Policy . 12
7. 3t < wiferdh & weed o aifiy ey @ e v ‘ 12

7. Explain the term Fire damage with reference to a Fire insurance policy. 12

(5 o 6 3iF)
8. 3ift wifeRdt & sfer, wier 3w AR & 9,00,000 § 1 7Y 2 fafy

3 R #1 TR 64 &, 12,00,000 &1 1 = F T i, SR
a) FEiat g a

) 3 g gE & aw el . 6000003\Hmammﬂ3ﬁ%
e m] anfr &, 10,000 & |

Under a fire policy, Sum Insured for stocks is Rs. 9,00,000. Actual value 6 each
of stecks as on date of loss was Rs. 12,00,000. Calculate the amount of

claim payable if :

a) Itisatotal loss

b} It is a partial loss and loss is Rs. 6,00,000. Excess applicable is

Rs. 10,000 for each and every loss .
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9. 3 HROT R A | e A afT ael F R e 12
F101 7 fearea e e 3wt g & 2

9. Define 'Proximate Cause' . Explain how the doctrine of proximate cause is 12

useful in settlement of fire claims .

(W & 6 3ie)

0. #) %ﬁqmm%q'mm’%ﬁwhwmmmm

a)
0. a)

b)

s g 2
Iz ‘fhuT 3t afy’ 3T A gy R 8 2

What is the cover provided under 'Rent for alternate accomodation 6 each
clause’?
How is it different from "Loss of Rent’ Clause ?
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ASSOCIATESHIP EXAMINATION
FIRE & CONSEQUENTIAL LOSS INSURANCE

g 3 e ] - (&t 3 2 100
Time: 3 Hours] {Total Marks : 100
fapedt o3 gt 3 T SR | W W 3 16 37 § g T A T R
s TR T 12 E R T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

. T % 4 3)
1. mmm%qﬁﬁmmmw%.

W) T

) - TR i S

¥) smafid g

3) e

1. Write short notes on'the following in respect of Industrial All Risk Policy. 4each
a) Eligibility
b) Covers included
¢) Excluded Property
d) Deductibles.

2 ft ot &) wiE & dedf o frefofen 9 @ AR - (T3 F 4 31)
¥) U &
§) aRed
) S

2. With respect to processing of fire claims, explain the following: deach
a)  Onus of Proof
b) Warranty
¢} Ex-gratiapayments.

34




3)

9)
a)
.
3)

9)
)

a)
b)
<)

3)
9)

a)
b)

2

AG -57
mfife vl % 4 si wre B - (5 5 6 9%)
T8 I, TR T 9 [T e | ~
i diferdt & st g T g weitst o @ wEwE 8§ 27

Distinguish between the terms - Book value, market value and 6each
Reinstatement value.
What are the provisos in the reinstatement value clause under fire policy.

et wifeRe e ed § 2 (5 ¥ 4 37F)
3 I R v e o 0 £ |
srearlt diRReE & site M 3 yRa fear s @ 2

What are floater policies ? 4 each
How are they different from declaration policies ?
How is the premium charged under floater policies ?

T Sted 9 v @ a9 w § 7 (5 % 6 3i%)
PRI STl B B @ A o S & S o w10
e A

ol A Ry F e o ®. 25 @ @ q SR B . 10

G @ A E 10,0008 1

What is meant by pro-rata average condition ? : , 6each
Calculate the loss payable if sum insured is Rs. 10 lacs. Value at risk

on date of loss is Rs. 25 lacs, assessed loss is Rs. 10 lacs and excess

is Rs. 10,000.

@%ﬁmm%@m@ﬁmmﬁ%@%@ﬂﬁmﬁw | 12
e ?

What factors are considered for arriving at the rates applicable to a Petro- 12
chemical plant ?

mmmm%M‘wwmmaﬁm 12
HE T EVEF & 7
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Why it is necessary to incorporate 'trend of the business’ adjustment clause 12
under a Consequential Loss Insurance Policy ?

T & R HEE A | 12

Explain the objects of Re-insurance ? 12
s i 3 sita e Frdeo Red = Fn seva 8 7 12
k What is the object of Risk Inspection Report under Fire Insurance 7 12

(RS % 4 37%)

oo iy TR 3 st e A3 A e v o ot
T

¥) T

) sfogff arafy

¥) THA AN H K

Give the definitions of the following terms used under a consequential 4each
loss policy : - :

a) Turnover

b) Indemnity Period

¢) Rate of Gross Profit.




T fmeRmate  AGH6l
’ A By AHamT

ASSOCIATESHIP EXAMINATION
CARGO LOSS PREVENTION ;

g3 ue ) [T 3ie : 100
Time: 3 Hours]) [Total Marks ::100

Torf 311 Wt 3 S SR | wem W % 16 3fe & foeeg Tg arfremd T

s adi vlw U 12 A H
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each,

Mark:
1. S I U - et U9 S g4 el i 9, SoR i etk e arlg
gt & &1 8t ¥, T SRR Aol & gRE gEutE e
MR 17 39 v AR F B & I gt 6y ) 9w
Ul ‘

1. "With almost one-third of preventable losses attributable to theft, pilferage 16
and non-delivery, a wise shipper should take adequate precautions.” What
are the general precautions that you would advise a shipper to take?

2. Prafifan & o (74 & 2 37F)
F) ‘TOH-9-T9 991 % SR Aee & e § el & R e S
Haled TR 8 & S e uedl @ |

T) &9 UReET § WA FION A THG AR A g e A o

) AR TSN 5 e i 3 frell-ofter @ TR o et o

 ER, WIS TR T AN g ARy |

¥) dorEe sl F TSR F@ 99 ® TR 9 aRd Fan 5 ot @ o

. T =R % 3k 17 spaR F SiEt & e @ |

) FT F TR-V-gR-0 it AT & ford ot S e w9 @
Bt AT |

B) F & S Tl At aify & ga W SR § ¥ 0 9 Sl @
U ST R |
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Give reasons for the following : 2 each

a) Maximum export packing standards are required when shipping by
"port-to-port" service.

b) For liquid cargoes carried by air, do not fill containers completely.

¢) Center of gravity of the load should be placed evenly between the
sling's angle and as low as possible within that angle.

d)  When stowing bagged cargo, the bags in the outer rows in all tiers
should be laid with their mouths towards the inside of the pile.

¢) Even in case of Door-to-Door movement of containers, packing needs
to be sufficiently strong.

f)  "Chaalo Jalli" is considered to be one of the commonest causes of
damage to small packages of cargo.

3, @g@mﬁmm,aﬁamﬁaﬁr%mmWﬁmw 12
3 | SRR T B T e e S w R b 9 aih g E d

o Y g g & S |

3 A truck has to be loaded with packages of varying dimensions, weights 12
and degree of fragility. Describe how these loading arrangements are 1o be
effectively done to ensure safety of both the truck and the load?

4 ‘T 3 fr ol get ¥ S & 0% o T §9 A R S SR
5 9 ToT ST A9 AR A TN F o I @ 1 59 A & S
3 Prrferfian 3 forT STEe F PRI & el 3 ST & weh s -
%) ¥l ar T (7T % 6 3iF)
@) o1 F o 9 TR A afeerl 39w W

[

4. "Cargo gear and slinging method should be so chosen as to be suitable for 6 each
the type of load to be lifted." In the light of this statement, suggest suitable
cargo gear and slinging method for -
a) cargo in bags
b) Long objects such as metal sections or wooden beams.

5. “Wﬁﬁﬁﬂm%ﬂmﬁﬁm@ﬁxm%u”w@ﬁﬁ%@ 12
7 5 o g @ 7

5. "Fire is a serious hazard in transit sheds and port warehouses.” How can 12
this hazard be reduced?
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a) Container sweat

b) Inernational Bulk Containers

¢)  Monetary liability of Railway Administration for loss/damage to goods
carried.

¥ e 3 SR Ar ) g & Ay 8 o e Y P/
mm%mmﬁmmmm?

What precautions should consignees take in order to control/minimise loss
or damage to goods in transit by rail?

ST e 8 T e g1, Tl o WU A & R AR 9 B T
1963 & &d U g8 & 7 T 2l ?

What is the liability of Port Trust under the Major Port Trust Act, 1963 for
loss, destruction and deterioration of goods taken into its custody?

R ¥ 7 T g AR S Ry e @ R gEwh
maﬂ'{n{?

What are the precautions that shippers/freight forwarders should observe
in stowing goods in a container ?

.mﬁmm%mmm@ﬁﬂﬁﬁmmwﬁaﬁw

T YA R |
. Discuss the important aspects of manual handling that have a bearing on
cargo safety.
----- TATGT ~eaum
=e-=- END ------

39

3 AG -61
frrferfiad W afre femoft forg - (% & 4 37F)
F) R QAT : :
@) FAAL b TR ‘

)R A T A e % R Yoy 3 snis 2
Write short note on the following :- 4 each

12

12

12

2

12
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NOVEMBER, 2007

TnfTfeaes spme
ASSOCIATESHIP EXAMINATION
COMMERCIAL GEOGRAPHY
w3 ) (et 37 - 100
Time: 3 Hours} [Total Marks : 100

ot 318 Wyl o SR AT 1 W W9 % 16 37 & R e et i R
= ol TRE W 12 9w H R
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
L %) s s T o e @ e a e gt | (S 8 99)
@) 1 WRagd F Tg WRaga A et # ger |

. a) Discuss the salient features and utility of the Cape of Good -Hope 8 each
Sea Route.
b) Compare the characteristics of Rail transport with Road transport.

2. frfoRad & Wimifres SR e - (FRF & 2 3iF)

F) TR SR ¥ e 79 S0 ¥ e o 1 9gT Te g g |

@) frm efie awn W Raed T e yomeh 1

T) ERE F G T I B & i w S ¢ 5 o qEen
WRETAINE |

¥) g 8 Ay SRvE & R ol o o 4 2, R e 2w
H AT AT AT IR |

q) IR T TSI 39T F TR 3 T SR AR AT B FHA |

) & 15 feah o o oftm ot 3 ) 3 2R, O W 8 A gL
T g, el & 3 IRy B O ST A S 1 S e =R |

2. Give geographical reasons for the following : 2 each
a) The rate of exchange is vital in considering prices in international
trade.
b) Rail transport with fixed terminals is an inflexible system.

40




2 AG -62
¢) The greatest salinity concentration is found near the tropics, whilst it
is less at the Equator.
d) A “Free Zone” is an area of land which is considered for customs
purposes to be outside the territory of its host state.
e) Uganda cannot do international trade without cooperation of the
neighbouring country.
f)  Foreach 15 degrees travel east or west, theoretically watches should
be adjusted by one hour forwards or backwards respectively when
passing from 6ne time zone to another.

T o Prcaferien R Yo e ) e 5 & o (% 6 37)
%) @O
g) ©R

Explain how the following affect maritime movement :- 6 each
a) - Salinity
b) Tides

F) 3R0r ¥ R wd w0 (A 63w
q) ﬁﬁnvﬁfﬁr(waﬁa&%wﬁ)wm(wi@am
&7) FE ?

a) What are the maritime hazards of South China Seas? 6 each

b) What are Roaring Forties and Doldrums? -

F) T Wik R ? (RFF 6 37F)

@) feF IS FEmE 9

a) Whét determines-a “time zone” ? ‘ : 6 each
- b) How are seasons caused?

frafafan faaiferd & w1t o w=f ot - (T F 6 37F)

%) frer ot spiver woie '

q) HaE i
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Describe the functions of the following intermediaries : 6 each
a) Clearing and Forwarding Agents
b) Shipping Agents ]
: (FAFF 6 37F)

F) _mﬁmﬁﬁmﬁwﬁmémmmﬁ%ﬁm%,ﬁéﬁmﬁ |
@) wEH - W IR S A § ?

‘a) - Discuss the demand for shipping services and the factors on whichit 6each

depends.
b) What is a Bill of Lading and what are its functions?

, L (S 439)
fyferfiad i @ diifoe sERyf, T, Suce Yo 3 981 =91 -

ﬁﬁaﬁmﬁng@mw%:-
F) T

tc)IRERICIE

M R

What are geographical locations, port conditions, facilities and major cargo 4 each
handled at following ports :-

a). Mumbai

b) Pipavav

¢) Singapore.

T T P IR IR, W A R R TR A F A AR 12
1 - T NS T A TS 8 7

Which documents are presented by the master of the ship before a vessel 12
is allowed to enter and berth in a harbour .

fortfefiaa W wew & fooroft forg - (I F 4 37F)

©F) -V

10.

@) e W Rw
m) fafmw

Write short notes on the following : 4 each
a) Ro-Ro Transportation

b) Inland Container Depots

¢) Bill of Exchange .

42




R, 2007 @ﬁm 'q’ﬂ'ga'[ A G-63
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T ater
ASSOCIATESHIP EXAMINATION
MARINE CLAUSES
qwE ;3% | [Fet 3f : 100
Time: 3 Hours] [Total Marks : 100

fonedl orre Uyl % et AR | word W o 16 3o € T urg arfvard i 1
= geft g U 12 AH HE

Answer EIGHT questions only. Question ONE carries 16 marks but this is not

.- compulsory. All other questions carry- 12 marks each.

Mark
mm%
1 Pl sifv & e § $feege s a@E (U), (Eﬁ)am(m)éaa%ﬁ

S e et 3 sffa ddtall 1 el ot e # -

F) EUE ST & R e e i |

@) T S el e

) I S IARANE! & g Ted A T |

q) o9 G, A, e arey Hen i T 1 559 T

1. Explain the liability'of insurers under cargo policies subject to Institute 4 each
Cargo Clauses (A), (B) and (C) in respect of following losses :-
a)  Particular average due to heavy weather
b) General Average contribution
¢) When goods are seized by terrorists
d) When there is entry of water into vessel, container, lift-van or place

of storage. (n?iﬁ 3 5)
2. Frafafes wRRtefl § fcege s Foias % dea e’ 38 fee
S -

%) T ST WA A0 3 e e o # e |
- @) i @ R # e 3 A e )

) I T S HIOT N S HO g e @ o
CH) W YT % N e 8 )
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2. How will “delay” be treated under Institute Cargo Clauses in the following 3 each
circumstances :-
a) Delay in taking delivery after discharge of goods at destination port.
b) Delay in notifying the loss/damage to the insurers.
¢) When the proximate cause of loss is delay due to operation of an
insured peril.
d) When there is delay in course of transit.

3. N0 9 IS - (9 & 4 37%)
F) e SR & R & IEE B S HROT T FSAHR Wi ¥
o & g9 S 8 1 9 & d gReege TR e FisIs & e
B 1| B 0 RO QI ) BT SR AT SR % o T R ?
e g 1 wor dftey & ST a R @ a2
T) IRCAR T T (FI0T) % den A I 51 9 | Ia e
9 FETTE 1 78 8 qe ) Teiar) & w92 § 7 T S Al
1t &t T | T e ) S A S g S -
i)y  3ifow Tiaey SEUmR A '
i) ATiReT SS9 |
) e 3R 3 T o Wi bl A ) o ST &) T o, 39 <R O
S % fred R @ W (30 Ywe) afi @ T | 39 T 6 E
T S eifel & wed <7 g ?

3. Give reasoned answers to the following : 4 each

a) A fishing vessel sinks in calm weather when her shell - plating
suddenly ruptures. The vessel is insured under Institute Fishing
Vessels Clauses. Upon which party to the insurance contract lies the
burden of proving the cause of the loss? What would be the position
if the cause of loss remains in doubt?

b) After the goods insured under Institute War Clauses (Cargo) are
discharged from the vessel, the port area came under enemy fire and
goods were extensively damaged. Explain the liability of cargo
underwriters if the port was
i) final destination port
it) transhipmen port.

c¢) There is damage to the vessel’s tail shaft sustained during refloating
operations following stranding of the vessel. Will the repair cost be
allowed in General Average ?
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3E. . . (), () 721 () & o aon squgwam oS 12
Y 1 ILVY TS Y7 IS YT F SUHA F |
Explain the purpose and.outline the terms of the Unseaworthiness and 12

Unfitness Exclusion Clause in ICC (A), (B) and (C).

. AW - 7o, 1.10.1983 F f - erd zemt 2w 90 F g B 12
S AT 3Y7E0T &7 aule Y |

Describe the cover provided by the Three-Fourths Collision Liability 12
Clause of ITC-Hulls, 1.10.83.
: (FIF & 6 37)
%) fore el wifert % et & e oftn 3 ol v e A 8 0
@) o AW - g 1.10.83 F vea i B o o7 A T F R
S - A W e & 79 At ar (R et % wEeE $
e 39 Rafy & 39 e s d

a)  What are the provisions as regards the sum insured in case of Special 6each.
Declaration Policy ?

b) When a vessel insured under ITC - Hulls, 1.10.83 sails for break-up,
how is this situation treated under the provisions of the Navigation
Clause ? '

T R H A $Reege w00 Folios () Foimtrgamd s (FF4.59)
%) 9 gl S & P @ At &, S oRRaf § onR A R
el SR W AT - S B w2, 7 I & €, e |
Q) IR e qm § ke & aa Refy @@ gl 2
) 3R YA W AT AR ST A& e § qRadA & T a9 39 14
gftomy g ?

A consignment is insured under Institute Cargo Clauses (B) 4 each
2)  Explain what occurs when the carrier terminates the contract of
affreightment at an intermediate port in circumstances beyond the
control of the assured?
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b) What will be the situation if there is change of voyage?
¢) What will be the effect of a change in destination after discharge at
destination port ?

(53 F 6 37H)
P 3 wraw 3 S e o Praftor 3 fpam s € -
F) Y s gl
§) afta ged S |

How is indemnity determined under the provisions of : 6 each
a) Duty Insurance Clause
b) Increased Value Insurance Clanse .

Freiferfa 3 TR 8T 3 it T @ s T (5 3 6 37F)
F) e 9o Aad T
@) RS e T |

State the Duration of Cover under Transit Clause of : 6 each
a) Institute Bulk Oil Clauses
b) Institute Jute Clauses .

Freafeign w e o R - (3% 4 37)
F) o A 9. % 1.10.83 1 SRS T |
) foshe foa R i o |

) e Reiwde & |

Write Short notes on : - 4 each
a) Franchise Clause under I. T. C. Frelght 1.10.83

b) Sellers' Interest Contingency Insurance Clause .

¢) Institute Replacement Clause .
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T ofiar st
ASSOCIATESHIP EXAMINATION
MARINE UNDERWRITING
g ;3 uT [T 31e6 : 100
Time: 3 Hours] [Total Marks : 100
foredf o1 Wit & see Aife | worm gy 16 3fe: ¢ ey w1 atrard T &
O TRw I 12 SR %

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each,

Marks
L @W%wﬁmwwmw(ﬁﬁ)m%ﬁaﬁ% 16
@ngﬁﬁmaﬂzﬁmﬁ%mmmmmﬁ%
for arran 2 | TR A THTY AR o a7 w9 vt e 0

1. Asanunderwriter you are approached by an exporter to insure a shipment 16
of portable transister radios from Mumbai to Lagos and interior, What
information would you require and what conditions would you impose?

Q%W#m@wﬁmm%ﬁammaﬁm 12
ml.ro.&%asama?rﬁwwﬁ?ﬁésaﬁmm%%&aﬁw
N Tsfy A T=wt w

(o)

2. Discuss, with the aid of an example, the method of rating a new hull risk 12
with insurance cover for hull and machinery under Institute Time Clauses
- Hulls, 1.10.83.

3, ‘aﬂﬁ’aﬁvﬁwméum%mmméﬁgqﬁf%ﬁmaﬁwmm 12
A & d 1 o e |

3. Define a "Warranty". Differentiate between an implied warranty and an 12
express warranty and give examples of each.
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS

a3 W) [ 3% - 100
Time: 3 Hours} _ [Total Marks : 100
et o173 Tt 3 TR ARG | T W F 16 ster & fireg g orforad T &
w A wRw T 2w F

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

L Mﬁ,m%aﬁﬁaﬁ(@ﬂmm,mé@éwm 16
ehege wnl aeew () % w6 €. 30,00,000, o1 e, & ford
S o | 3% e e FAw: €. 9,00,000, €. 10,00,000
%.8,00,000 % |
e a7 e A e ey vy A e iR I (ST ) T IO AR
# 5 e, TR A AN R AT TR AR |
35 e Tl o ¥ O T & 0 o e A R B |
m%@maﬁwaﬁmﬁaﬁiﬁmmmt@%ﬁm
vsT\&éﬁnﬁgﬁmmﬁﬁaﬁxﬁmﬁaz,l1,0001?3%[
o, forrt @ . 2,500 fosht o &9 T T |
Gl ) s e ) T o T g e o g 4 T S
R T | T T 13,000 FfaRe S 9 A T A |
wiferei % e e T |

1. A cargo of soya beans, coffee beans and cotton in bales, shipped from 16
Massawa to Mumbai, was insured under Institute Cargo Clauses (C) for
Rs. 30,00,000, so fivalued. The invoice values were Rs. 9,00,0Q0,
Rs. 10,00,000 and Rs. 8,00,000 respectively.
The vessel stranded in the Gulf of Aden and had to put into a port of
refuge (Aden), where the voyage was abandoned.
The cargo of coffee and cotton was heavily damaged by incursion of sea
water in the holds of the vessel.
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The entire consignment of coffee was found to be a total loss and was
dumped with no salvage value at all. Cotton bales were severely damaged
and were sold at Aden realising Rs. 2,11,000 out of which sales charges
amounting to Rs. 2,500 were paid.

Soya beans escaped damage and were forwarded in sound condition to
Mumbai on another vessel. An extra freight of Rs. 13,000 was incurred.
State the claim under the policy.

(FAF % 4 37)
9 ol it e 1 et e o o iy i g &
freafeafiae o i o e epaT - aé oot e P AT R -
%) {Reeye H TN 3 JUR & I v
q) RESE TH N - gew, 1.10.83 F 7ed @ S it
M) RES T TN - B2, 1.10.83 F e 0 e TR |

When the subject-matter of insurance sustains partial loss or damage by ~ 4 each
an insured peril, how is indemnity calculated under :

a)  acargo policy subject to Institute Cargo Clauses

b) ahull policy under Institute Time Clauses - Hulls, 1.10.83

¢) afreight policy under Institute Time Clauses Freight, 1.10.83 ?

S 1 T W . 96,000 39 e, F R dfmgand shaws 12
fordl . 20,000 % o dor o & | RO T T 3 T o T e
¥.24,0002 | /

A 3 O i S el e 4 1 e g T e 8

¥. 1,36,000 791 Haer v8q afom e & . 1,02,000

X[ B g ot T - e R & e 7 o e 1 Fal o 2

. 200 1 Sfewr Ve & 300

79 Reffer 3 7 e & -

i) TR, aor

i) Y S W

A consignment of goods is insured for Rs. 96,000, so valued, and there is 12
also Duty Insurance for Rs. 20,000. Actual duty paid on the consignment

is Rs. 24,000.
The goods are damaged by a peril insured against. The gross arrived sound
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Wﬁwﬁmmwﬁ%wmﬁwmmw%? 12
When is notice of abandonment required and what s its purpose and effect? 12

(RS F 6 %)
%) Wm,%gﬁmaﬁ%mmwmq@ﬁﬁmﬁaéﬁm
T fyawr e
@) T F 7 T & FeoE W |

a) Describe the claim procedure when insured cargo arrives at 6each
destination with loss or damage .
b) . Mention the Main Claim Documents.

Fraferfian w0 iy foorof ford - (o & 4 30)

F) oo g

@) aRdfas o g

) I g & T |

Write short notes on the following : 4 each

a) Salvage Loss
b) Actual Total Loss
¢) Removal of wreck - Expenses
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T o
ASSOCIATESHIP EXAMINATION

MARINE INSURANCE
a3 e | [ 3% : 100
Time: 3 Hours] [Total Marks : 100
m&mma;waﬁﬁrquwam 37e § fog g orfrard T
g afl T w12 i E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

HE 1

%) S affEm, 1938 § 9l vifReEl w e & g § deiE
Fee 4 § 7
@) g R S Pl & sita sron & Frafa to s @ v g
& dm % R g Ramd g & 7

I. a) Whatare the provisions of the Insurance Act, 1938 regarding payment 8 each
of Premium on Marine Policies ?
b) State what relaxations have been allowed for insurance of Exports
and Imports of Cargo and Marine Hull under the Insurance Rules .

2. frefefes & @9 # i a0y - (1% % 6 3t)
F) Y US AG IR 797 Freast Ju |
@) faww o efa qer e o afa

2.  Differentiate between : 6 each
a) Sueand Labour charges and Salvage charges .
b) Particular Average and General Average .

3. R e ¥ e o e W 12

3. Discuss the role of Marine Insurance in overseas trade . 12
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4. RO SRA SArd 6 P we we € A e - (3¥e8K % 2 3i%)

F) IR <Tew FEA g 1010.83 F il Frrg ¥ N F WA
A - AT svEr Sl - % Tl W o ar A R

@) gAYt A & T 31 8 e e SReE F F ()
& e 3R T8 A R
et =t 9 gufrargul srard & Ui 1 8 ATl aft dReee eTew
Tl - 29, 1.10.83 F Agq wmaRd g ¢ |
IRe=R ZW Fa - 891.10.83 F Ny FE FaAS o e,
i 0 [ 3 - g & FR0T B Ay & ford e @ St
FEA 3 A ], S JHAM W & W € |
TFH 3 BT AR T 1 A A T R I F 0T B H FN
T & T | g SR AR W Ta B & @ F1 FRT S T
3, ety o, @, @ (@), (&) 7 () & ded PR AR |
o freht At 3 & Terewy R F e S & ST FRA
3T T T TR W T 9 A7 7 @ @ S ) ae
# 3l T |

State with reasons whether the following statements are true or false:-

a) TheDeductible Clause of Institute Time Clauses Hulls, 1.10.83 applies
also to total loss claims - whether actual or constructive - of the vessel.

b) Damage to cargo by malicious act is not covered under Institute Cargo
Clauses (A). v

¢) Damage to ship by any person acting maliciously is covered under
Institute Time Clauses Hulls, 1.10.83.
Pollution hazard Clause of Institute Time Clauses Hulls, 1.10.83
indemnifies the assured in respect of damages for pollution caused
following oil spillage from the insured vessel.
Carrying vessel is delayed by a collision and this delay caused the
cargo of fruits to deteriorate. As the cause of the loss is reasonably
attributed to collision, the loss is payable under ICC(A), (B) and (C).
If cargo arrives at destination unidentifiable owing to obliteration of
marks in consequence of an insured peril, such a contingency renders
the insurer liable for a total loss.
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AR T S o A e Aol A e S R
ST oA A & ) mﬁ%mm

F) ta wdd Fryes W W
@)wmﬁmﬂ@ﬂﬁﬂ@ﬁﬂ%%ﬁﬁ@mwmaﬁ$ﬁ&
dm 3 an # sye 3w et ?

A dealer in motor vehicle parts seeks your advice on insuring shipments
whioh are : 6 each
a) exports on free on Board terms
b) exports on Cost Insurance freight terms .
What would be your advice regarding insurance so that his interests
are fully protected?

(5 % 6 3)
m)ﬁa¥ﬁmﬁmmwwﬁmﬁm%ﬁﬁmmmmmﬁﬁ
A TR ?
@) O e % 5 R §

a) State the requirements of the carrying vessel as stipulated in Insutute 6 cach
Classification Clause.
b) What are the objects of ship classification?

Wﬁﬁﬁ%ﬁﬁﬁﬁﬂ#g&ﬁﬁﬂﬂ%ﬁﬁW% (e 6 4 37%)
F) I HHA

¥) RS FM Fes (BR)

T) RS T KW |

When does the risk commence and terminate under - 4 each
a) Tea Crop Insurance :

b) Institute Cargo Clauses (Air)

¢)  Institute Coal Clauses

ﬁa@awaﬁﬁ—ﬁﬁ1Mm3ﬁwmmm%sWhﬁwﬁ 12
e ymafid € 7

What are the perils covered under the Perils Clause of Institute Time 12
Clauses - Hulls 1.10.83 ?
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T 7 0w § 59 guRRE R o gea @ A g a9
J¥TE Ued £ 2

When can a marine cargo policy be assigned and what is the effect thereof?

e TR (W 3t Ug) W ¥R T % awd &, 2,00,000 T
Tedid, & o i To sivd T ged a1 SR Fuet @ oy S
I 5 9ERT 9 gag ¥ 7 |

T STe o T ¥ ST 3 BT T3 3 3iaw A A e e ¥ e
B | e 59 A S e v % 5 R ag & Yeew @ T,
WA 5 Wl T8 gen, et e @ adstE dert ¥ gy de
eI Tt R . 12,000 1 T Wit g 1 3w @ aren v ge
ISR eg %. 24,000 ¥fd i3 a1 |

T T3 NEE & A 79 8 78 3l 3 @en 7 S 5 |
el S @1 . 100 3R Tfemr Yo% ®. 200 1 Wi F e 3 A
AT & |

. Ten bales of readymade garments of uniform contents and value are railed

from Vadodra to Mumbai and are insured for Rs.2,00,000, so valued, under
Iniand Transit (Rail or Road) Risk Clause *A’.

One bale came into contact with rain water and contents were partially
damaged. As the allowance for damage offered by the surveyor was not
accepted by the consignee, the damaged bale had to be sold by public
auction. The gross proceeds of sale amounts to Rs. 12,000. Arrived sound
market value was Rs. 24,000 per bale.

One bale was lost in transit and could not be traced.

Sale charges were Rs.100 and survey fees Rs.200.

Work out the claim payable under the policy .
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ASSOCIATESHIP EXAMINATION
AGRICULTURAL INSURANCE

qOT ;3 Ee ) [T 37 : 100
Time: 3 Hours]} [Total Marks : 100
e 211 Wy 3 I TN | uH W % 16 s & by e rforamd TR R L
= weft U T 12 SE R R |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

L D) o st S T i T R ) e 3wl 2006 Maris

T 3 2 T R A A (T € 3. L) F i A
o 7T oy 1 e ot e et 3 AR 3 o S FATER @

wE et e
iy | @ af¥ ®. 20,000 ®. 25,000
i) | diifenen (wereRere) fiftem 6% 5.5%
i) | 39 A A S ot @) sl I 500 F5. 7n./ 2. {1200 f5. 71/ @
iv) | TR TS B T 80% 0% |
V) | @iw 2006 % e arafs s | 4108w | 850 . .

IR TER AT R FeiRan 1 e B
F) e fan T e, e

101

@) J[Id |
i) Y drm & Iyee FHR # Seord | 6
1. i) A farmer growing Sunflower and Soyabean was insured under 10

National Agriculture Insurance Scheme during Kharif 2006 season .
The basic information on underwriting and claims are as follows :-

Crop Sunflower | Soyabean
1) | Sum Insured Rs. 20,000 | Rs. 25,000
ii) | Acturial premium rate 6% 5.5%
iii) | S years' average yield of the Area 500 kg/ha | 1200 kg/ha
v)| Indemnity level 80% 90%
v) | Actual yield during Kharif 2006 410 kg. 850 kg.

On the basis of the above information, find out :-
(a) the premium paid and (b) claims payable .
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ii)  Specify (available) types of Agriculture Insurances . 6

frfafas = we i .- (F % 6 37%)
%) FFFE N AR 3 F 37T oS wmat ¥ e R |
G) A S Tl gl s 3 a3 fr 2 ufEar |

Elucidate the following :- 6 each

a)  Good features discount under Poultry Insurance Market Agreement.

b)  Claims procedure of Permanent total Disablement Claim under Cattle
Insurance .

ﬁ%ﬁ@%‘f?ﬁ?wﬁmﬁﬁif@q:- (S & 4 37)
%) T Uy Ie o '
Q) WM & HE S

) S A e dm ) st

%) G o i wiferdt 3 meegyl e

Write short notes on any three :

a)  Agricultural Pump Set Policy

b) Sericulture Insurance

¢)  Features of Janta Personal Accident lnsurance

d) Important scctions of Kissan Package Insurance Policy .

T P A A e e . (5 3 6 57)
F) ¥eArde fReemy
@) & F IR @R Frer % gfpard |

Discuss the following with reference to National Agriculture Insurance 6 each
Scheme -

a) Benefits envisaged

b}  Claims approval and settlement procedures.

AR ¥ HHE S 3t 16 dergrel & e 5t |

Discuss future outlook for Crop Insurance in India .
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6. Wy oiferedt & it smeRwr 3 faram ot vt A At 1 12

6. Describe scope of cover and exclusions under Cattle Insurance Policy . 12

7. FefaRen § 9 fall i w dfr Rogoh fafew - (5 % 4 37)
&) @uﬁmﬁmm(ﬁnﬁam%m)
) %9 By §m
M) Fuet s
) YA SEed d

7. Write short notes on any three of the following :- 4 each
a) Diary Insurance Package Policy (for Corporate Clients)
b} Crop insurance in France '
¢} Hut Insurance
d) Pedal Cycle Insurance .

§. frfafed ¥ 3 fonedl i & drg 1 o e &Y - (7T % 4 37%)
F) FUG A & Hiia The SR a9 gHedt §6 SER
@) FN T yfis Sfaw o safame w1
) M-S Y gHE Tay ARt 329F ATl A
) v T I 79 SRyH wrg 111

8. Distinguish between any three of the following : 4 each
a) Individual approach and Homogenous Area approach under Crop
Insurance. :
b) Natural Risks and Personal Risk in Agriculture.
¢) Milch and Dual Purpose breeds of cattle.
d) Operation Flood II and Operation Flood HI .

9. frefafan § 8 faredl oY @ avi ot - (S 3 6 37%)
%) TRl A i FE Sl
B) Hgaamaﬁﬁmﬁaﬁwzﬂmmagﬂa
) gim s
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9. Describe any two of the following :
a) Black quarter disease of Cattle.
b) Hail Insurance Experience in U. S. A.
¢) Prawn Insurance

10. Ferpe ST Y A - i T Heeaqut ot /v a €0 12

10. What are the important underwriting considerations/conditions for Poultry 12
Insurance ?
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ASSOCIATESHIP EXAMINATION
MOTOR INSURANCE

3w ] (& 3t : 100
Time: 3 Hours] ‘ [Total Marks : 100
Tl a1ms wel % S T | wow W o 16 37k § fareg ug avframd i €4

FaTfi TRHE T 123 H T
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each,

Marks
I A Em H Rerei ffyy fce sedl w e T EURE F e 16

T4 AT |

Mention the various underwriting factors which are considered in motor 16
insurance and specify the importance of each.

folt e oiferel & @ §ft GT & ofla e e R Rfm s wravfs 12
R - :

Enumerate the various discounts granted under Own Damage Section of 12
a Private Car Policy.

wrex i # freafoiRan S % Hew W Je ST (FF & 6 3iF)
) PR AR
q) A g

Highlight the importance of following documents in motor insurance : ~ 6 each
a) Cover note.
b) Rerewal Notice.

el i W aftre Rufer fofa - (5AF & 4 37%)
3) HERT
q) < SEIOT 95 GG T S
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¥) S B
7) fafqy yem & ad
q) o= & IS
Write short notes on : (Any three) : 4 each

a) Conductor

b) Deemed Transfer of Certificate of Insurance
¢) Structured Formula

d) Miscellaneous types of vehicles.

e) Jald Rahat Yojana

HTCTETE FARNA aTet o Teife el & e & S el e
FI GG BT |

List the important documents required for settlement of Own Damage
claim on a goods carrying commercial vehicle.

mmm%m%mmﬁﬁmuﬁﬁmmﬁ%%mmmmmmwmﬁ
IR W T I et w9 ot Seoi@ Fifg

Enumerate the various questions which normally appear in a proposal
form devised for covering private cars under a Package Policy.

e ¢ Fed 8 B uiferdt % W affd Wy ¥ siefa Gufm Sfwt &
g HT |

List out the risks covered under the own damage section of a Package
Policy for Motorised two wheelers.

12

farferfaa § @ feredl ot w witra fowafimart forfige (5 % 4 37%)

) wWeHd

3) fifraq & ey dam
q) wofd gwd af

g) TR deEr

64




10.

3
AG-72

Write short notes on any three of the following : 4 each

a)
b)
<)
d)

)
)

M.ACT.

Short period Scale of premium
Constructive total loss.
Solatium Scheme.

T % 6
Mwﬁ%m%mwaﬁﬁﬁmm% ( )

&ﬁaﬁm&wﬁawﬁﬁ%?ﬁmm%m%mﬁw
g 7

Which extra benefits are available under the Package Policy for 6 each
Private cars?

What are compulsory deductibles? Specify in relation to different

types of vehicles.

. famfafan #t sl we iR -

o et qen fag et 8
1 FAToT 4

Write in detail about :

a)
b)

General damages and special damages 8
Certificate of insurance. 4
----- I -----
----- END ---—-
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SferTTa gefeT, staT ug farferer sftam
ASSOCIATESHIP EXAMINATION
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS

INSURANCE
|qHT ;35S | (et 3 - 100
Time: 3 Hours] [Total Marks : 100
TR 21me Wyt & IR AT 1 T wvA & 16 i § e ur anfrend i €
I ot TR U 12 A H |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

e

3) ST e Tt o siarta Iuere fafte @ | 8

¥) FiaRed qud AfaRed o | 4

q) uiferdt & afala stuae | 4
1. Whatare:

a) the various benefits available under P. A. Policy 8

b) additional Free Extra Benefits 4

c) -exclusions under policy ? 4
2. fe ot o iR et e (Fh % 4 30)

i) SR gHeA A ¥ g 8 ~

i) e &m # w4 A

iii) Forverrar TE) o ¥ @ ) 3y

iv) SFIEA Y S8

v) Sdord st oy at e
2. Write short notes on any three ;- 4 each

1) Group Discount in Personal Accident Insurance .

i) Cumulative bonus in Mediclaim Insurance .

ili) Period of discovery in Fidelity Guarantee Insurance .
iv) Excise Bonds

v) Rating of Jeweller's Block Insurance .
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3 ﬁﬁw%mﬁﬁ&mwﬁmmmmwm@ 12
399 9 Foreft wen & R foR € FART |

3. State diffcrant coverages available in Videsh Yatra Mitra Policy and give 12
details of any one of them .

4. R Weem viee % fedl ©: TasHl # Secrg IR | 12
4. Mention any six exclusions of Individual Medical Policy . ’ 12
5. T F GEAer A uierd o T et # S AT | 12
5. Mention the common features of Householders and Shopkeeper's Policy. 12

6. 37 d % ol R S el aan sterer sfRTa g diferd W 8
T T 8 €, @l o i ferd 3 2 R 39 g 9 5
offerdl wx @ 8 ¥ 1 e S g 39 W S B |

q) U A A AR Srer- v A e § e W E. | 9, €. 2 a9 4
1 &. 3 7 % forg, Forer wenfeeh foaem +f wnfiver 8, A st
e et & € |
foymferfan feafay ¥ S 2 o T
 FR g § SRS H gHe 5 |
i) e FuCE< ER FHINI S gl I ST |

6 a) The basic principles of Insurance like indemnity and contribution 8
are not applicable to Personal accident Policy . However on practical
consideration a certain measures of both these principles are
applicable to this policy . Discuss with examples . '

b) A person has taken threc Personal Accident policies from three 4
different insurers for C. S. 1. of Rs. 1 lac, Rs. 2 lacs and Rs. 3 lacs
including weekly benefits .

Calculate the amount payable in following situations :
i) Accidenta! death of insured person in car accident .
i)  Eight weeks disability certified by Medical Consultant .
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Frerfeifian 3 ¥ ot et we et oo o (o ¥ 4 37)
i) ST ger uiferdt & yraw
i) Dt wiferdt & S s 510 ST 3 wARa v
iii) 9 s viferdt
iv) W Afeaem uierdt & A/ ael |
Write short notes on any three of the following :- 4 each

1)  Provisions in Personal Accident Policy .

i) Conditions incorporated in Mediclaim Policy for compliance by
Insured Person .

1) Bhavishya Arogya Policy .

iv) Bonus/Malus Clause in Group Mediclaim Policy .

Waﬁmmmﬁmmwm o5 et fadwaeit W 12
ferae faar e 8 2

What are the important features ordinarily taken into consideration while 12
underwriting Money Insurance Proposal .

37 ST T e BT O dod s e A w2
e

Discuss the contingencies which are covered in Banker's Blanket Indemnity 12
Insurance .
frrferfe o @ ferlt ety e il Rraforert fiafiae - (70 % 4 37)

i) AE G a9y Oferd & fafne stas
ii) e gy oiferel sl 5 /g v |
iii) & & ¥ 3feeiRem 2 uRvl @ e |

vy ST A A P |

v) i e S o e ey v
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10. Write short notes on any three of the following :-
i}  Specific exclusion of Baggage Insurance Policy :
i) Conditions for issue of First Loss Policy .
ity Significance of two amounts mentioned in Money Insurance Policy.
iv) Rating of Jeweller's Block Insurance .
v) Special condition incorporated in Neon Sign Insurance .
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ASSOCIATESHIP EXAMINATION

LIABILITY INSURANCE
g 3L ) [t 314 © 100
Time: 3 Hours] [Total Marks : 100
TRl 3118 Ut o I R | wom v & 16 ik § foneg T arframd T R
AR AR AT 123 F HE

Answer EIGHT questions only Question ONE carries 16 marks but this is not
compulsory. All other questions carrv 12 marks each.

Marks
1. 94 < dm (sfafe Sifem) § 92 Sfed 3 Sew s s § 6

ST 31 5@ 7 F Ie0iE HINTT |

1. Mention the major items of information in thé Risk Assessment form for 16
large risks in public liability insurance . (industrial risk)

2. 3) T et & semetor SR
q) Tl &l i S & foe el g1 ST e 8
A eI 1w FEd B |
2. -a) Give examples of General Damages. 4
b)  Outline the general approach adopted by Courts for arriving at amount 8
of General Damages.
(3 % 6 3iF)
3. ) ke sl % fore svare e dhmn 3 v o) < o o o
ferarelia st & ==t SR | ‘
) ifersdt & afert fafa o vl g Ol < & frafto e yer
foran ST § 2

3. a) Mention the factors taken into account in arriving at rates of premium 6 each
for products liability insurance for domestic sales .
b) How are premium rates fixed, if exports are also covered under the
policy .
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S e o SRR 1991 § SRafad e wiFa ) == A ) 12

Describe the claims procedure as provided in the Public Liability Insurance 12
Act, 1991.

(S & 4 37%)
mmm(mm)%mmmmmm

Fifr, %

%) e v T e R S S ¢ |
) o TR & st SR e 1 w2
¥) o A % aMER W srvafia

Mention the risks excluded under public liability policy (industrial risks) 4 each
which :

a) can be covered at extra premium

b) can be covered under other policies

¢) one excluded on grounds of public policy .

e FR 6 e 99 & T 1 = a1 e & e o et 12
3 i o T ) 35 T ot B R & e € 2

Explain how a member of a profession can become liable to pay damages 12
for negligence in the performance of his duties .

i SR A 3 S A ) % P 3 e AR A e 12
FfAT |

Describe the claims procedure for settlement of fatal claims under 12
workmen's compensation insurance .

Foredi ety W Wit feroafral fafae - (7T & 4 37F)
¥) T i 5 R ‘

) w9 o uierd (e Siftaw) & sfara WRae foa |

W) O ¥ Sgar QA S

?)  gfer ey 8 9. . e Fae
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Mention the important questions included for the purpose of rating and 12
underwriting, in the Contractors Plant and Machinery insurance proposal
form .

ol ot W it feapeft forg - (5 % 4 31F)
%) arger uiferdt & agd ey

) Siger e % e anfea

M) 3 Y giferdt

u)  Tafee Seifafin ot siftm iferdt |

Write short notes on any three : 4 each
a) Cover under Boiler policy

b)  Warranties in Boiler Policy .

¢) Contract works Policy

d) Civil engineering Completed Risks Policy.

F) Tl T @) erf vt s SRy w0 (35 ¥ 6 37F)
T) THEE AE & a7 F gua A B e g8 ® REr s
=fRT, 39 W=t & |

a)  What is the purpose of machinery loss of profits policy ? 6 each
b) Discuss the issues to be considered by the insured in fixing the
Indemnity Period .

Wieh FI (311 F Biga) A I 52 e & qEf woeet 5 12
Discuss underwriting issues in Deterioration of Stock (other than Potatoes) 12
Insurance .

WF & 6 3
e T S e st P s )
%) iifes ofd - @ug [ % dga drar ar qen 2ify 3 FITeR 7 3 |
g) @WE a1

With reference to an Electronic Equipment Insurance Policy Explain: 6 each
a)  the basis of sum insured and loss settlement under Material Damage
- Section 1

b) the Maintenance Warrenty.
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9. frefuien § 3 frl T W gt feropoft ford -
&) HrERge A
@) e frleo
) SRR S ot
9) Tl T o e ofereh 3 e st et R |

Write short notes on any three of the following :

a) Site monitoring

b) Risk Inspections

c) Role of Engineers

d) Insured Standing Charges under Machinery Loss of Profit Policy .

(5 & 4 3F)
| Py o R e o AR T 9 A G e el &
YHR & T Fad -

F) g 95 fagn
) F el

) WA Rl
u) o el

. Name the type of Plant and Machinery commonly found in any three of 4 each
the following :-
a) - Combined Cycle Power Plant
b) Paper Factory
¢) Soap Factory
d) Cement Factory
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ASSOCIATESHIP EXAMINATION
MISCELLANEOUS INSURANCE

g 3He ) , [ 3 : 100
Time: 3 Hours] {Total Marks : 100

TRl 31Ts Wt o St T ¢ urd W % 16 i § g g P TR S

TR URE YT 12 R FE
Answer EIGHT ‘questions only. Question ONE carries 16 marks but this is not
compulsory. Al other questions carry 12 marks each.

Mark
3) G, SReTeR qo SV & o gl @ o i A ag o arlzs

Y 3 AT geie ot 3 daed § 78 g ¥R ey g 8 7
) vy A o S gee G A @ Sfor & yEe 3y S

1 arffentor R SR W R ST d 2

Explain the fundamental principles of Indemnity, Subrogation and
Contributicn and also how these operate in respect of Personal
Accident Insurance .

Explain the basis on which the risks are classified in personal Accident
Insurance for the purpose of rating,

) mwﬁﬁgﬁmm,mmmaﬂmwmmm
g foram fobar st =nfgu
) daritrd & sty T R STem § 9

a)  List out the factors which are to be considered while underwriting a
Money insurance proposal .
b)  Which extentions are available under the Money Insurance policy ?

afTfses feyeraar MRvdt dtm aon I Avey & &9 I W HT |

Distinguish between Commercial Fidelity Guarantee Insurance and the
Court Bonds .




a)
b)
c)
d)
e)

3)

9)

a)

b)

frraferfiem FahR & sl o TR A :

i)
ii)

2

Plate Glass Insurance

Duplicate Key Clause

Sericulture

Failed Well Insurance

Good Feature Discoupt in Poultry Insurance .

¢ IR Sy S it @ gula: frle s 39 Ree daees
1 T 2 Ll TR S % R g 1 St @ 1 39 R 3t
fRuie # fF wopR bt STeverdl ) ot & 2 3 s ST

e et R e § 2

Burglary Insurance risks are sometimes fully inspected and the report
submitted thereafter to the underwriter for considering acceptance of
the risk.- What type of information would appear in such a report ?
List them out.

What is a Valued Policy ?

&9 H3R 4T (Tertiary Care Insurance)
] STEATCHRT ST

iii) S i iferht (CPAA)

77
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MR 4 Tiferelt W e forega fewot faf | 12

Write a detailed note on Shopkeeper’s Insurance Policy . 12
- frefafian o @ feredt ot R wiftra fRroford fafae - (5 ¥ 4 3i%)

) I T S

9) gferse wm FAT

¥) Wm e wer

q) YA F3N dH

7) wieet € F v e B¢ o

Write Short notes on any three of the following : 4 each

3

(S & 4 3i)




3
AG-78
7. Provide an outline of the following type of covers : 4 each
i)  Tertiary Care Insurance
i1) Domiciliary Hospitalisation Insurance.
iii) Cancer Insurance Policy (CPAA)

§. a1) e g vt 3 st svereme & uRwE A |

B = SV

) SRR e fereht o SfTe SRR SrerRIe o HR o 7 |
7)ot s T $ sida Ben aftfe MRm E PR FFRE 3
aifefter e Svea § 7
2) TR & Ry g R ge o v R 2
8. a) Define disablement under Personal Accident Policy . ‘ 3
b) Describe types of disablement covered under the personal Accident 4
Policy .
¢) Which are the additional benefits covered under Individual Personal 3
Accident Policy at no extra premium..
d) Which of the above benefits are not available in a Group Personal 2
Accident Policy ?
9. forvawaa M wiferdt  wnfivet evat Wl % $o SareNT AR 12
9. Mention some of the important'conditions appearing in Fidelity Guarantee 12
Policy .
10, Sord o st wifere ¥ sila e anefsael @) SR R arma? 12
T4 PIT §
10. Which contingencies are covered in Bankers' Blanket Block Policy. 12

Discuss.
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ASSOCIATESHIP EXAMINATION
LIABILITY AND ENGINEERING INSURANCE

;3] (et 37 : 100
Time: 3 Hours] [Total Marks : 100
TRl TS WY % e R | e e 16 ik & foeg g srfard T R
FaElt yAH v 12 dFE F E

Answer EIGHT Guestions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(I3 & 8 37%)

. &) aﬁaﬁqﬁaﬁamm%mmwaﬂﬁﬁwm
% 709 srgel 1 8 ?
T) mmﬁmﬁmmﬁmmmmmﬁ
o0 HH |

1. a) Describe the cover and mention the exclusions under Compulsory 8 each
Public Liability Policy..
b) Mention the contents of a Risk Inspection Report for Machinery

Insurance.
(7R & 6 37F)
2. F) W%-mmmm%mmﬁﬁﬁaﬁa@mw% ?
@) W F FRUE ToT & Fed # 7-Te- ST S 5 §
2. a) Whatare the advantages to the insured provided by the Marine-cum- 6 each
Erection Policy ?

b) What information is elicited in marine-cum-erection proposal form
in respect of overseas transit of materials ?

3. ey T o g R % s - (A F4 )
F) drr oftr & Frefor 3 R s @ 27 "
§) THAF O ity & Pefor 3 e g 2
T e of s BRI ?
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Under machinery loss of profits policy : 4 each
a) how is the sum insured fixed ?

b) how is the Indemnity Period fixed ?

¢) Whatis the purpose of Material Damage Clause ?

ferel = T wiftra fomafon fofaw (7% 3 4 37%)
&) ke H gy wierdt & fenta ‘i’ |

@) gt aiasmed o SRew - S 3

) fafyer $SfaRtr quf Siftew o

) SO YU A 3 Sfi 3SR &Y (|US I) e |

Write short notes on any three : 4 each

a) ‘'Excess' under Contractor's All Risks Policy.

b) Risk management process in engineering projects .

¢) Civil Engineering Completed Risk Insurance (CECR)

d) Equipment damage (Section I) cover under Electronic Equipment
[nsurance :

ﬁmﬁ@asﬁﬁuﬁnﬁwﬁ@@mﬁﬁwaﬁ (372 F 4 3i)
&) S AR

@) g ey F

m g

Identify the hazards in the following civil engineering projects : 4 each
a) Tall buildings

b) Airport works

¢) Tunnelling

F) AREE TR 0 g § ? (5% % 6'3i%)
W) 5 WRRefr § wrar) afva s o aedt @ 2

a) What do you understand by the term "Negligence"? 6 each
b) Under what circumstances can Nigligence be established ?
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a)

b)

F)

G)

a)

AG -79
(5% & 6 37%)
SHER B werefg S uiferdt 3 fd s $ R & avk R )
SR F a7 7w wiferdt %y st € 2

Describe the scope of cover under a Contractor’s All Risks Insurance 6 each
Policy . ’
What are the major exclusions of the Contractor's Plant and Machinery

Policy ? ~
o (% 6 3)
& it foeft Fvfe o saffm @it & o sden afg
Il & siwfa R wRRafrl & ganast & A R feder

g g ?

3 SRt s wifaREl & A and s frdt oRaee & wifes
oftaisr & Ffor 9w e yares o % 30 o S 8 |

In what circumstances does an employer become liable for payment 6 each
of compensation to a workman for personal injuries under the
Workmens Compensation Act ?

Name the Engineering Insurance Policies which an owner of a project

can avail during construction phase and operational phase of the

project .

: , . (IAF T 4 3F)
g <o (3t sifew) dhr gl & fraffes 3R &
WWW%
%) W% A F IR T
@) fReq fiftey w smafta
m) g vt ded ameha |

Mention the exclusions under Public Liability (Industrial Risks) Insurance 4 each
Policy under the following categories :

a)
b)

based on public policy,
covered at extra premium,

c) covered by other policies.
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tREETEED)
%) forator it 3 feReel ©: W & A ward R fore 3R 1w
S e e 10 & 1 A
W) TS 3%en # wd g ol & sfwia At uit i e
¥ amem & ford B @ s o A § 2

a) Name any six types of construction works for which a Contractors' 6 each
All Risks (CAR) Insurance Policy can be issued ?

b) What provisions apply to sum insured and basis of loss settlement
under a Contractors’ All Risks (CAR) Insurance Policy ?
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